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Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529159
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 2105295168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The Phrase T-L model of teaching implies that

1. Teaching and learning are independent acts

2. Teaching and learning are integrally related acts
3. Teaching aims at learning

4. Teaching causes learning

Options :

21052920401. 1

21052920402. 2

21052920403. 3

21052920404. 4

Question Number : 1 Question Id : 2105295168 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920401 1

21052920402 2

21052920403, 3

21052920404, 4

Question Number : 2 Question Id : 2105295169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

From the following list of learner characteristics, identify those which are associated with ‘field
independent’ learners

A. Focuses on facts and principles

B. Perceives global aspects of concepts and materials

C. Prefers and likes to compete

D. Can organize information by himself/herself

E. Likes to cooperate

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. A, Cand D only
4.C, D and E only



Options :

21052920405. 1
21052920406. 2
21052920407. 3
21052920408. 4

Question Number : 2 Question Id : 2105295169 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920405, 1
21052920406. 2
21052920407. 3
21052920408, 4




Question Number : 3 Question Id : 2105295170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are said to be style-related competencies of an effective teacher?
A. Organized demeanour which means being orderly, clear and in control

B. Literacy which implies general knowledge as well as good at reading and writing

C. Self-efficacy which refers to a person’s self-perceived capacity to perform a task

D. Flexibility which means being sensitive and lenient

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3.Cand D only
4. D and E only
Options :
21052920409. 1
21052920410. 2
21052920411. 3
21052920412. 4

Question Number : 3 Question Id : 2105295170 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920409. 1
21052920410. 2
21052920411. 3
21052920412. 4

Question Number : 4 Question Id : 2105295171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11
Scale of measurement Properties
A. Nominal . Classification and order
B. Ordinal . Classification, order and equal units
lIl. Classification, order, equal units and absclute
C. Interval
zero
D. Ratio V. Classification only

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-1L,C-1V,D-1I
SA-ILB-IL,C-1IV,D-1
4AA-IVB-I,C-1,D-1
Options :
21052920413. 1
21052920414. 2
21052920415. 3
21052920416. 4

Question Number : 4 Question Id : 2105295171 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-1,C-1L,D-1IV
2ZA-1,B-1,C-1V,D-1I
3A-ILB-ILC-1V,D-I
4 A-IV,B-LC-II,D-1I
Options :

21052920413. 1
21052920414. 2
21052920415.3
21052920416. 4

Question Number : 5 Question Id : 2105295172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Use of ICT is justified during teaching with a view to optimize learning outcomes

Reason R: Learning outcomes are contingent on use of ICT during teaching

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920417. 1

21052920418. 2

21052920419. 3

21052920420. 4

Question Number : 5 Question Id : 2105295172 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920417. 1

21052920418. 2

21052920419. 3
21052920420. 4

Question Number : 6 Question Id : 2105295173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher proposes to find out the effect of praise and encouragement during a teaching-
learning session based on Skinner's theory of reinforcement. What type of research will it
belong to?

1. Fundamental research
2. Evaluative research

3. Action research

4. Applied research
Options :

21052920421. 1



21052920422. 2
21052920423. 3
21052920424. 4

Question Number : 6 Question Id : 2105295173 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920421. 1
21052920422. 2
21052920423. 3
21052920424. 4

Question Number : 7 Question Id : 2105295174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement I: All research adds to the corpus of knowledge by advancing a theory

Statement |I: The focus of action research is basically on the amelioration of prevalent
practices

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052920425. 1

21052920426. 2

21052920427. 3

21052920428. 4

Question Number : 7 Question Id : 2105295174 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

HYA-| : THE SUYH B4 fisia & A gR1 I3 &9 § 3fs S B

HY-1| ; TS STHYH BT A U9 Y ¥ y=id uRuifed! & 39d 91 R $igd il g
Sudad Bl & dis | Fifed e 5 ¥ 98 W -

1. DY | 3R 11 &HT T8l B
2. @Y | 3R || GFl Tad &
3. BYH-1 9 &, foog HYH-11 Tad 2|
4. HYF-1 AT g, foog BYA-11 Gel 2



Options :

21052920425. 1
21052920426. 2
21052920427. 3
21052920428. 4

Question Number : 8 Question Id : 2105295175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List | with List 1l

List | List Il
Key research terms Description
A. Research problems . Devices using which data are gathered

B. Research hypothesis
P II. A subset drawn from a defined set or universe

. & tentative solution or answer to a research
C. Sample of study

question

V. The research question which has to be
D. Research tools

answered

Choose the correct answer from the options given below:

TA-IV,B-N,C-1,D-1
ZA-ILB-IL,C-1,D-1IV
3A-LB-1IL,C-11,D-1IV
4 A-ILB-IV,C-I,D-1
Options :

21052920429. 1
21052920430. 2
21052920431. 3



21052920432. 4

Question Number : 8 Question Id : 2105295175 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-IV,E-U,C-1l,D-1
2ZA-ILB-ILC-1,D-1V
SA-LB-1IL,C-N,D-1V
4AA-1ILB-IV,C-1,D-1I
Options :

21052920429. 1
21052920430. 2
21052920431. 3
21052920432. 4

Question Number : 9 Question Id : 2105295176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question



Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in a hypothetico-deductive research in the correct sequence
A. Identifying and defining a research problem

B. Defining the population and drawing a sub-set therefrom

C. Data collection using appropriate research tasks followed by data analyses
D. Hypothesis formulation and developing a design of research

E. Taking a decision on the substantive research hypothesis via testing of the Null hypothesis
(Ho)

Choose the correct answer from the options given below

1.ADBCE
2A B CDE
3ACEBDE
4 B, A CDE
Options :
21052920433. 1
21052920434. 2
21052920435. 3
21052920436. 4

Question Number : 9 Question Id : 2105295176 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TREGATHD - FHATHS MY H SO o+ aTe 9iaH FEER § -

A, fordll =iy GHET BT HMHIITT BT R GRHINT BT

B. THY Pl GRHINT BT SR 39H U SU-TH=y e

C. THfd Q1Y JUDRUIN & AWM GRI HH S TIGU AaYTq Hidb s Bl fa=eiuul
D. UReeUHT A0 3R Te &1 e f[admied B

E. 3 UR&G AT (H.) & A1 9§ {2 WY URe a1 1R diy ol ol
Y & I 1 Fal sH axIiHdT - fGU U fadedl H 9 98 R g ;

1.A DB CE
2 A B CDE
3ACBDE
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Options :

21052920433. 1
21052920434. 2
21052920435.3
21052920436. 4

Question Number : 10 Question Id : 2105295177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling techniques in research imply randomization and equal
probability of drawing the units?

A. Quota sampling

B. Snowball sampling

C. Stratified sampling

D. Dimensional sampling

E. Cluster sampling

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand E only
4. D and E only
Options :
21052920437. 1
21052920438. 2
21052920439. 3
21052920440. 4

Question Number : 10 Question Id : 2105295177 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920437 1
21052920438, 2

21052920439. 3
21052920440. 4

Sub-Section Number : 2
Sub-Section Id : 210529160
Question Shuffling Allowed : Yes

Question Id : 2105295178 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (11 to 15)

Question Label : Comprehension

Read the passage carefully and answer the questions that follow



In the narrowest sense, price is the amount of money charged for a product or a service. More
broadly, price is the sum of all the values that customers give up to gain the benefits of having
or using a product or service. Historically, price has been the major factor affecting buyer
choice. In recent decades, however, nonprice factors have gained increasing importance. Even
so, price remains one of the most important elements that determines a firm's market share
and profitability.

Price is the only element in the marketing mix that produces revenue; all other elements
present costs. Price is also one of the most flexible marketing mix elements. Unlike product
features and channel commitments, prices can be changed quickly. At the same time, pricing is
the number one problem facing many marketing executives, and many companies do not
handle pricing well. Some managers view pricing as a big headache, preferring instead to
focus on other marketing mix elements. However, smart managers treat pricing as a key
strategic tool for creating and capturing costumer value. Prices have a direct impact on a firm's
bottom line. A small percentage improvement in price can generate a large percentage
increase in profitability. More important, as part of a company's overall value proposition, price
plays a key role in creating customer value and building customer relationships. "Instead of
running away from pricing,” says an expert, "savvy marketers are embracing it".

The price the company charges will fall somewhere between one that is too low to produce a
profit and one that is too high to produce any demand. It summarizes the major
considerations in setting price. Customer perceptions of the product’s value set the ceiling for
prices. If customers perceive that the product's price is greater that its value, they will not buy
the product. Likewise, product costs set the floor for prices. If the company prices the product
below its costs, the company's profits will suffer. In setting its price between those two
extremes, the company must consider several external and internal factors, including
competitors' strategies and prices, the overall marketing strategy and mix, and nature of the
market and demand.

Sub questions



Question Number : 11 Question Id : 2105295179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Historically price was considered important because

1. Sellers were always benefitted

2. Money was charged for product or service
3. It provided options for buyers

4. It promoted non-price factors

Options :

21052920441. 1

21052920442. 2

21052920443. 3

21052920444. 4

Question Number : 12 Question Id : 2105295180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Why is price different from other elements in the marketing mix?

1. It offsets cost

2. It generates revenue

3. Itis rigid in character

4. It ensures channel commitment
Options :

21052920445. 1

21052920446. 2

21052920447. 3

21052920448. 4

Question Number : 13 Question Id : 2105295181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the perception of smart managers regarding pricing?

1. It is a strategic tool for consumer value

2. It invites issues

3. It is better to focus on other elements in the marketing mix
4. It is of indirect value to the firm

Options :

21052920449. 1

21052920450. 2

21052920451.3

21052920452. 4

Question Number : 14 Question Id : 2105295182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is the major determinant of pricing for product or service?

1. High demand

2. Low demand

3. Customer's value perception

4. Company's quest for high profitability
Options :

21052920453. 1

21052920454. 2

21052920455. 3

21052920456. 4

Question Number : 15 Question Id : 2105295183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What are the other factors influencing or setting the price for products or services?
A. Competitors' strategies

B. Over-all marketing mix

C. Type of market

D. Pricing from one extreme to the other

E. Predators pricing strategies

Choose the correct answer from the options given below:

1. A, D and E only
2. A, Band Conly
3.C, D and E only
4. B, Cand D only
Options :
21052920457. 1
21052920458. 2
21052920459. 3
21052920460. 4

Question Id : 2105295178 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (11 to 15)

Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 2105295179 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920441. 1

21052920442, 2

21052920443, 3

21052920444. 4

Question Number : 12 Question Id : 2105295180 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920445 1

21052920446. 2

21052920447. 3

21052920448. 4

Question Number : 13 Question Id : 2105295181 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
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Options :

21052920449. 1

21052920450. 2

21052920451. 3

21052920452. 4

Question Number : 14 Question Id : 2105295182 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920453. 1

21052920454. 2

21052920455. 3

21052920456. 4

Question Number : 15 Question Id : 2105295183 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TG ST Harefl @i Ha ®I HIfad a1 Feid & aTed 3 RS dH-4 g 7
A. Uiaegfifal ot YorEifa

B. gAY fauur fago

C. 9I9IR &1 YbR

D. Tth WIdlie ¥ GeRl WD b diHd MR

E. TSR sl Bl BIHd YU

Hel faded g -

1. Bad A, D 3R E
2. BAUA, B AR C
3. AU C, D 3R E
4, &da B, C AR D
Options :
21052920457. 1
21052920458. 2
21052920459, 3
21052920460. 4

Sub-Section Number : 3
Sub-Section Id : 210529161
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 2105295184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication enhances the interaction of learners, it is

1. Physiological
2. Psychological
3. Artistic

4. Transient
Options :
21052920461. 1
21052920462. 2
21052920463. 3
21052920464. 4

Question Number : 16 Question Id : 2105295184 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e RN, S dIsi BT A0l S d¢ldl & d9 98 aidl & ;

1. Hifd®
ERSCIGHIIEES
3. HATHD

4. &ffores
Options :
21052920461. 1
21052920462. 2
21052920463. 3
21052920464. 4

Question Number : 17 Question Id : 2105295185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Classroom communication is

A, Goal-oriented

B. Style-centric

C. Collaborative

D. Vertical

E. Non-rhetorical

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and E only
Options :
21052920465. 1
21052920466. 2
21052920467. 3
21052920468. 4

Question Number : 17 Question Id : 2105295185 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



T4 - D& TV BT © -
A. T&0-3d
B. Ycil-disd
C. GEURTHD

D. FHareR

E. TR - afdda
iq%pfﬁﬁi'_cﬂﬂ_:f:

1. &dd A 3R B
2. Had B 3R D
3. HaU A 3R C
4, HAAD ARE
Options :
21052920465. 1
21052920466. 2
21052920467. 3
21052920468, 4

Question Number : 18 Question Id : 2105295186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Allowing an issue to fester will contribute to effective communication

Reason R: A good communicator will address an issue in the classroom before it becomes
precarious

In light of the above statements, choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A is false but R is true

Options :

21052920469. 1

21052920470. 2

21052920471. 3

21052920472. 4

Question Number : 18 Question Id : 2105295186 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR gl P TN E : te iU () IR G TH (R) B ;

HiHYA (A) : [ = &I 964 o1 ° THIE! U H eradl Hedt B

d (R) : Uh HRc] YUYl ol H fodll e & Si--FEd Bl oiH ¥ Ugd I9d] GHIUH S|
SuYdd Syl & il H Fgifd fdeeal § 9 ¥81 ST g -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR Bl o
2. (A) ¥R (R) GHI T8I B &R (R), (A) DI T6l SREAT T2l 3|
3. (A) g1 B, T (R) 7T B

4. (n) a4 & g (R) TR &

Options :

21052920469. 1

21052920470. 2

21052920471. 3

21052920472. 4

Question Number : 19 Question Id : 2105295187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List |

List 1l

Communication barriers

Description

A, Semantic

. Lack of physical clarity in channel

B. Psychological

Il. Faulty message

. Personal

lll. Poor retention

D. Physical

V. Lack of time

Choose the correct answer from the options given below:

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052920473. 1
21052920474. 2
21052920475. 3
21052920476. 4

Question Number : 19 Question Id : 2105295187 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gait-1 ¥ Faii-11 BT FHeH &

| Tl-Ii
U0 & HRY  [[dR0
A, ReaTi® |. §RUT (=) H Hifd® wydr &1 41d
JEeEIGRIIEG 1. Ffeguf Hem
C. HfrTd 1. FiF DIfe BT HTURY
D. Hifd® V. THG BT HYG
I feu 1T famedl § O Ol IoR &1 90 @

TA-LBE-UI,C-1,D-1V
2ZA-ILB-N,C-1V,D-1
SA-ILB-IV,C-I,D-1
4AA-IVB-I,C-1,D-1
Options :
21052920473. 1
21052920474. 2
21052920475. 3
21052920476. 4

Question Number : 20 Question Id : 2105295188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements
Statement |: Signs and symbols have internal relations to produce meanings
Statement lI: This is possible because of a network of signs through such relations

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

21052920477. 1

21052920478. 2

21052920479. 3

21052920480. 4

Question Number : 20 Question Id : 2105295188 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIERAGAIC A g F

HYF-1 : Gobdl 3R TP | BT 37 Ia7 B F AR G949 §iaT 2
HY-1l : I8 31 YeHil & ATend ° Tobdll & Jedd b HRU GHT gl 2
e Y1 & s B FEied Gee § 9 98 SR g -

1. @Y | 3R 11 EFT TS B

2. @Y | AR I EF T B |

3. BYH-1 9 &, foog HYH-11 Tad 2|
4. HYF-1 AT g, foog BYA-11 Gel 2




Options :

21052920477. 1
21052920478. 2
21052920479. 3
21052920480. 4

Question Number : 21 Question Id : 2105295189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A man covers a distance of 22 km in 4 hours by initially walking and then jogging at speed of 4
km/hour and 10 km/hour, respectively. The distance covered by him during walking is

1. 10 km
2. 12 km
3. 15 km
4. 18 km
Options :
21052920481. 1
21052920482. 2
21052920483. 3
21052920484. 4

Question Number : 21 Question Id : 2105295189 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Uah oAfdd 22 fH @1 gdl @l 4 U H 3RY H T 3R dayq Sl GIs 9 HAzk: 4 fdodly der
HIR 10 fooely HeT & 1 T 78 Bl 8| 3UD gRI dad ad B 115 gl [l 6 ?

1. 10 Tl

2. 12 fobHl.

3. 15 fobHl.

4. 18 Tl
Options :
21052920481. 1
21052920482. 2
21052920483, 3
21052920484, 4

Question Number : 22 Question Id : 2105295190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A rational number has its denominator greater than its numerator by 6. If the numerator is

increased by 4 and the denominator is decreased by 8, the number becomes g . What is the

original rational number?

11

17

5

11

7

13

13

19

Options :
21052920485. 1
21052920486. 2
21052920487. 3

21052920488. 4

1.

2.

3.

4,



Question Number : 22 Question Id : 2105295190 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U URHY GBA1 D1 8 3D 3 ¥ 6 318 51 Gl 3 H 4 B gl DI Wi g IREXHAY 8
mm%aﬁmgﬁraﬁ%mgtrﬁﬂumw%?

. 1
17

5
11
7
13
13
19

Options :

21052920485. 1
21052920486. 2
21052920487. 3
21052920488. 4

Question Number : 23 Question Id : 2105295191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following number series
0, 6, 24,60, 120, X
What is the value of term X?

1. 180
2. 210
3. 240
4,156



Options :

21052920489. 1
21052920490. 2
21052920491. 3
21052920492. 4

Question Number : 23 Question Id : 2105295191 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fdifd T gaa W fdaR difey

0, 6, 24, 60, 120, X
X BIAFFE ?

. 180
2.210
3. 240
4.156
Options :
21052920489. 1
21052920490. 2
21052920491. 3
21052920492. 4

Question Number : 24 Question Id : 2105295192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Two water pipes can fill a tank in 10 minutes and 15 minutes, respectively, if each of them is
used separately. If both the pipes are used to fill the tank simultaneously, how long will it take
to fill the tank?

1. 6 minutes
2. 8 minutes
3. 7.5 minutes
4. 9 minutes
Options :
21052920493. 1
21052920494. 2
21052920495. 3
21052920496. 4

Question Number : 24 Question Id : 2105295192 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
&l ofc UT3Y TG S{T-3THT e ol of UH <l @l HHS: 10 e 3R 15 fme § R a@d 5
g ST Uyl &1 St B W & 1310 Us -I1Y Wi (a1 9Y ot 2ot @i W & foa1 99g @

1. 6 e

2.8 fide
3.7.5 e
4.9 e
Options :
21052920493. 1
21052920494, 2
21052920495. 3
21052920496. 4



Question Number : 25 Question Id : 2105295193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the next term in the following letter series?
aceg, ceqi, egik, gikm, __

1. jlor

2. hjlo

3. ikmo

4. ikmgq
Options :
21052920497. 1
21052920498. 2
21052920499. 3
21052920500. 4

Question Number : 25 Question Id : 2105295193 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

uifdd e Y H ST Asa 1 BT 7

aceg, ceqgi, egik, gikm, ___

1. jlor

2. hjlo

3. ikmo

4. ikmg
Options :
21052920497. 1
21052920498. 2
21052920499. 3
21052920500. 4



Question Number : 26 Question Id : 2105295194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Substance is self-caused, self-conceived and self-existent

Reason R: Substance is not caused by other causal sources but is conceived by something else
and is also existent on that

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920501. 1

21052920502. 2

21052920503. 3

21052920504. 4

Question Number : 26 Question Id : 2105295194 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
HIHUTYA (A) : GO0 W-HINA, W0-YTRd 3R T e arar gidi o

dd (R) : 500 30 BRG Fidl g DI el oidl & Sfcd [HHl 31 gRT YT 8idl & 3R 394 i
HETaH e el

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052920501 1

21052920502. 2

21052920503. 3

21052920504. 4

Question Number : 27 Question Id : 2105295195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: All perceptions seem entirely loose and separate. They are conjoined but not
necessarily connected

Reason R: Since the perception of hardness is not necessarily connected with its colour, it can
be said that perceptions are loosely connected

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920505. 1

21052920506. 2

21052920507. 3

21052920508. 4

Question Number : 27 Question Id : 2105295195 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;

3t (o) @ vaefimRur gof T ¥ gad SR 7ud Udid 8id o1 d 999 81d & U e a:
Hafid 7e 8id g

dd (R) : dicb DRl DI HAENHIU 3T F1 Y HHaria: Y&ldd 21 & sulT g8 &gl ol 9hdl &
fob Ugalioeul gad ©U 4 Hafdd g

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052920505 1

21052920506. 2

21052920507. 3

21052920508, 4

Question Number : 28 Question Id : 2105295196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: If there is a contestation between Sruti and Smriti, Sruti prevails over Smriti

Reason R: Sruti represents the philosophical aspect of the Vedas and Upanishads, while
Smiriti is an application of the philosophical ideas.

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920509. 1

21052920510. 2

21052920511. 3

21052920512. 4

Question Number : 28 Question Id : 2105295196 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i &l sy Ru U § : vsar sifidyd (4) IR ERT T (R) B ;
3fiyepy (A) : A e 2R i & &9 ufaeef g1 &, gy, 9T @ e unidi 81t 2

dd (R) : Y Jaf 3R IuFvel & aRfe usqs & axid &, vaie Wi e Geri @1
U N B

IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052920509. 1

21052920510. 2

21052920511. 3

21052920512. 4

Question Number : 29 Question Id : 2105295197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Quantity and quality of a categorical proposition decide

1. Validity

2. Invalidity

3. Mood

4. Figure
Options :
21052920513. 1
21052920514. 2
21052920515. 3
21052920516. 4



Question Number : 29 Question Id : 2105295197 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fopdl geay adb areg &1 AT SR e RgfaRad & Ao sd §

1. QYT
2. JTqEaT
3. HIRT

4. 3MPId
Options :
21052920513. 1
21052920514. 2
21052920515.3
21052920516. 4

Question Number : 30 Question Id : 2105295198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following decides the figure of a categorical proposition?

1. Major term
2. Minor term
3. Middle term
4. Copula
Options :
21052920517. 1
21052920518. 2
21052920519. 3
21052920520. 4

Question Number : 30 Question Id : 2105295198 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Fufeiad ¥ 4 &HF - 91 fod Gy do a1 @1 HHid S H0g B3 ?

1. 7@ UG

2 gFHAUT

3. HHH UG

4, TO9H (Copula)
Options :
21052920517. 1
21052920518. 2
21052920519. 3
21052920520. 4

Sub-Section Number : 4
Sub-Section Id : 210529162
Question Shuffling Allowed : Yes

Question Id : 2105295199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (31 to 35)

Question Label : Comprehension



Based on the data in the table, answer the questions that follow

Consider the following table which contains year-wise data of installed Renewable Energy
capacity for four countries (X, Y, Z, T) over a period of 5 years from 2015 to 20189.

Year\Country X Y Z T

2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105295200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Between 2016 to 2017, which country registered maximum growth (%) in installed capacity of
Renewable Energy?

1. X

2.z

3.¥

4T

Options :
21052920521. 1
21052920522. 2
21052920523. 3
21052920524. 4



Question Number : 32 Question Id : 2105295201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which country registered maximum growth (%) by 2019 with reference to year 20157

1. Z

2T

3. X

4.Y

Options :
21052920525. 1
21052920526. 2
21052920527. 3
21052920528. 4

Question Number : 33 Question Id : 2105295202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the country 'Y, what is the average annual growth (%) of Renewable Energy capacity?

1. ~10.85 %
2. ~12.77 %
3. ~13.25%
4, ~11.65 %
Options :

21052920529.
21052920530.
21052920531.
21052920532.

AW N =

Question Number : 34 Question Id : 2105295203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In any given year, compared to the previous year which country(s) registered maximum growth
(96)?

1.7

2. Zandy

3 Y

4 Xand Z
Options :
21052920533. 1
21052920534. 2
21052920535. 3
21052920536. 4

Question Number : 35 Question Id : 2105295204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Taking all four countries together, what is the over-all increase (%) in installed capacity of
Reneable Energy in the year 2019, with reference to 20157

1.52.32 %
2.91.11 %

3. 11732 %
4,.121.81 %
Options :
21052920537. 1
21052920538. 2
21052920539. 3
21052920540. 4

Question Id : 2105295199 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (31 to 35)



Question Label : Comprehension

frgifea aifereT I AR &3 798 2015 ¥ 2019 9F 5 TUT F1 FF F IR IR S (X, V,
z, 7) ¥ fore wifia wdftevoiin oot amar & 9d-9R siwe fiu 7w §1 37 siwsl & amuR
W'ﬂ'ﬁﬁ'%ﬁ?a

WIfUd AdiHuiig Sl &9 (GwW) :
ay / G¥l X Y z T
2015 10 15 08 12
2016 13 18 10 13
2017 15 20 12 15
2018 20 20 15 18
2019 22 24 20 20

Sub questions

Question Number : 31 Question Id : 2105295200 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tul 2016 - 2017 B &1 (U G = TAHUG Soll B WU & H ifimad afe (%) & @ 87

1. X

27

3.Y

4T

Options :
21052920521. 1
21052920522. 2
21052920523. 3
21052920524. 4



Question Number : 32 Question Id : 2105295201 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

®H-9 SR+ a¥ 2015 & Y&H T 2019 T® AHIH G (%) Gol Dl g ?

1. Z

2T

3. X

4.Y

Options :
21052920525. 1
21052920526. 2
21052920527. 3
21052920528. 4

Question Number : 33 Question Id : 2105295202 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sy @ U AAIEHeuia Sl &Hdl B JH1Gd aiftid afg (%) fea-i @i e ?

1. ~10.85%

2. ~12.77%

3. ~13.25%

4, ~11.65%
Options :
21052920529. 1
21052920530. 2
21052920531. 3
21052920532. 4

Question Number : 34 Question Id : 2105295203 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Udqdi a9 @ qoH | fedl fau e ay H farg &=/ ft S=IT 5 Sii¥ddd 9is (%) Gol @i 6 7

1.7
2.ZARY
.Y
4.X 3R 7

Options :

21052920533. 1

21052920534. 2

21052920535. 3

21052920536. 4

Question Number : 35 Question Id : 2105295204 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
OHl IRl 53 & e, a9 2015 & 5H # a¥ 2019 H ey Sl &1 MU &Hd § 99y
3G (%) o & 2

1. 52.32%

2. 91.11%

3. 117.32%

4. 121.81%

Options :

21052920537. 1

21052920538. 2

21052920539. 3

21052920540. 4
Sub-Section Number : 5
Sub-Section Id : 210529163
Question Shuffling Allowed : Yes



Question Number : 36 Question Id : 2105295205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation BIOS?

1. Big Information Online System
2. Binary Input OQutput Software
3. Basic Input Qutput System

4. Binary Inner Open Software
Options :

21052920541. 1

21052920542.2

21052920543. 3

21052920544. 4

Question Number : 36 Question Id : 2105295205 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
BI0S URGUff Teg DT R ET A& ?

1. @7 5B HEA AaE- fiw=d
2. G241 ZAYE #f13eYe YIeddy
3. 9f® 39Ye 3eye fiRen

4. TSI 3% 31U itedmR
Options :

21052920541. 1

21052920542. 2

21052920543. 3

21052920544. 4

Question Number : 37 Question Id : 2105295206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Computer hardware consists of

1. Computer table
2. Monitor and CPU
3. Software

4. Google

Options :
21052920545. 1
21052920546. 2
21052920547. 3
21052920548. 4

Question Number : 37 Question Id : 2105295206 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HR gredmR & AT BT 8 -

1. PHR ¢ad

2. AR a1 didg
3. HiedR

4. 7

Options :
21052920545. 1
21052920546. 2
21052920547. 3
21052920548. 4

Question Number : 38 Question Id : 2105295207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is a data visualization method?

1. Line

2. Circle and Triangle

3. Pie chart and Bar chart
4. Pentagon

Options :

21052920549. 1
21052920550. 2
21052920551. 3
21052920552. 4

Question Number : 38 Question Id : 2105295207 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ye weRiie gq Faifed 4 @ oi-d@ fafu g 2

1. 3@ (@)

2. g a1 Ay=

3. U713 91C aYl §R 918
4, arH

Options :
21052920549. 1
21052920550. 2
21052920551. 3
21052920552. 4

Question Number : 39 Question Id : 2105295208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nowadays many online courses are available and their popularity is increasing

Reason R: Selecting the right course from many such, is a big challenge

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920553. 1

21052920554. 2

21052920555. 3

21052920556. 4

Question Number : 39 Question Id : 2105295208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;
HDHYA (A) : GRIRT 98d 9 313 UredsH 3Ude & a4l 34! didbugdl §¢ Yol o
dd (R) : 39 UHR 9 9gd 4 UIdUHHl H U el UledshH &l 98- U dof gHldl o
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) AR (R) THT FET § 3R (R), (A) BT TE ARG

2. (A) aﬁ?gﬁ)aﬁfﬁ%&ﬂ?(mr (A) T TeI ST T8l 5

3. cﬁjlﬂl‘a"r'ﬁtm[ﬁ}wél

4. (A) TTEd 8 TR (R) Tel B

Options :

21052920553 1

21052920554. 2

21052920555. 3
21052920556. 4

Question Number : 40 Question Id : 2105295209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A-F system is used in which of the following number systems?

1. Binary

2. Octal

3. Hexa - Decimal
4, Decimal
Options :
21052920557. 1
21052920558. 2
21052920559. 3
21052920560. 4



Question Number : 40 Question Id : 2105295209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A -F WUTTeH Hgifeed & € food T HoTell § Wgad Bl § 7
1. 9I5R1

2. dffaed

3. 3 ST
4. SfaHd
Options :
21052920557. 1
21052920558. 2
21052920559. 3
21052920560. 4

Question Number : 41 Question Id : 2105295210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Under Goal 4 of Millenium Development Goals, the reduction sought to be achieved in under-
five child mortality rate between 1990-2015 was to the extent of

1. Half

2. Two-third

3. Three-fourth
4, One-third
Options :
21052920561. 1
21052920562. 2
21052920563. 3
21052920564. 4

Question Number : 41 Question Id : 2105295210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Ul 9o dedl & ded aigd 4 H, 94 1990 - 2015 & &d Uid g4 4§ &Y 3R &1 ard 9 a2
T AT B o drell Sird s a4 2

1. 3MMeht

2. l-faers

3. dH-9T
4.Ua - fagTg
Options :
21052920561. 1
21052920562. 2
21052920563. 3
21052920564. 4

Question Number : 42 Question Id : 2105295211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Emitted Pollutants Environmental Impact

A, Carbon dioxide . Formation of acid rain

B. Carbon monoxide Il. Toxic and are carcinogenic

C. Nitrogen oxides lIl. Toxic and can cause respiratory diseases

D. Benzene and hydrocarbons V. Contribution to global warming as a
greenhouse gas

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052920565. 1
21052920566. 2
21052920567. 3
21052920568. 4

Question Number : 42 Question Id : 2105295211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- DI Tall-11 & Ty GHferd oY

gal-| gl-1l

JoHfoid Ugu® UgiaRuiiy yHId

A, DI SEIATTIES |l 37 a9l I HHE

B. BIa- AFREEES (1.3 dul RERS

C. ASeIoH ATHTESd (il TIUe JUT 49 e I & SR

D. afofi 3R V. UF UH-819H 79 & ¥U H S da= &l
HEEICIERS AR
=i fgu 7Tu fadeul § T Ul Sk &1 90 @9 ;

TA-IV,E-N,C-1,D-I
2ZA-IVB-ILC-1,D-1I
SA-IVB-ILC-1,D-1
4 A-LB-ILC-I,LD-1V
Options :

21052920565. 1
21052920566. 2
21052920567. 3
21052920568. 4

Question Number : 43 Question Id : 2105295212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries in decreasing order of their contribution to global
carbon dioxide emissions

AL USA

B. China

C. Russia

D. India

E. Japan

Choose the correct answer from the options given below

1.A B DCE
2B ADCE
3.BADEC
4. A B, D EC
Options :

21052920569. 1
21052920570. 2
21052920571. 3
21052920572. 4

Question Number : 43 Question Id : 2105295212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



2 & 3H® BE-SE3HES S § 3% diGH & 3fdie] ®H H 9ol 4 @ UgdH @ :

A. UYU

B. A

C. ¥4

D. HIRd

E. WllUT-

i f&u e fdoredl & ¥ 98l S 9 -
1.A B DCE
2B ADCE
3.BADEC
4 A B D EC
Options :
21052920569. 1
21052920570. 2

21052920571. 3
21052920572. 4

Question Number : 44 Question Id : 2105295213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: A windmill with proper design considerations can be made to operate at
efficiencies in the range 60% to 65%

Reason R: The efficiency of the windmill depends on its design parameters

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920573. 1

21052920574. 2

21052920575. 3

21052920576. 4

Question Number : 44 Question Id : 2105295213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &y fRU T B : ugel SifidyH (A) AR GUU dd (R) § -

HYEHYA (A) : IUGd oDl U3 Tigd Big Ud- gad! 60% U 65% I dRIDa TR
TaTaH & o i 3 o1 9@t g

d (R) : U Jad| B dRIGRIadl 39 Sffdded Urdal iR R &=l 31
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) ¥R (R) G TE1 € 1R (R), (4) BT Tl RS TR &
3. (A) H8l § U (R) TTCd B

4. (A) TTdd 8 UG (R) TEI B

Options :

21052920573. 1

21052920574 2

21052920575. 3

21052920576 4

Question Number : 45 Question Id : 2105295214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From disaster mitigation measures given below, identify the measures which can be
characterized as non-structural

A. Flood dykes

B. Land-use zoning

C. Rasing of homes in flood-prone areas

D. Insurance programmes

E. Reinforce tornado safe rooms

Choose the correct answer from the options given below:

1. B and D only

2. A, B and D only
3.B, D and E only

4. A B, DandE only
Options :
21052920577. 1
21052920578. 2
21052920579. 3
21052920580. 4

Question Number : 45 Question Id : 2105295214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i f&U W SMTUeT -gHI®Ru Sur | U, 39 SUM™ (3 3Urdl) B SfHsid B3 ford/foig Srikfd &
&Y # qiffpd fhdl ol TPl & ;

A. 9I¢ dcey

B. 44 - TONT &7 R0

c. g1¢ Eifed &7 # R & W Sdl SoM
D. &IFT BIdHH

E. T GRI&d D& DI Holgd Dl
i feu TTu fasedl & 9 981 SR g -
1. Baa B 3R D

2. ®HaAA A, B AR D

3. @A B, D3R E

4. HAAA, B, D AR E

Options :

21052920577. 1

21052920578. 2

21052920579. 3
21052920580. 4

Question Number : 46 Question Id : 2105295215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following areas of liberal education at the higher level in the feudal society of
Europe were classified under quadrivium?

A. Grammar

B. Logic

C. Arithmetic

D. Astronomy

E. Music

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Dand E only
Options :
21052920581. 1
21052920582. 2
21052920583. 3
21052920584. 4

Question Number : 46 Question Id : 2105295215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TR & FHETAIC] FHG H ot X R SaRdlG! e & FHafcfad & 9 fo & of agra
(quadrivium) o WWWW?

A @I

B. dd

C. BT

D. WifeTd!

I

i feu TTu fasedl & 9 981 SR g -
1. Bad A, B3R C
2. Hdd B, C3ARD
3. HAAC, D AR E
4. BAdA DIARE
Options :
21052920581 1
21052920582, 2

21052920583. 3
21052920584. 4

Question Number : 47 Question Id : 2105295216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



National Programme for Technology Enhanced Learning (NPTEL) was initiated by the MHRD in
2003 to enhance the quality in

1. Medical education

2. Agriculture education
3. Engineering education
4. Legal education
Options :

21052920585. 1
21052920586. 2
21052920587. 3
21052920588. 4

Question Number : 47 Question Id : 2105295216 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gy 2003 H HIE SHIYH G HA10 (MHRD) BRI AP1Y U] Hafdd i srisd
(NPTEL) @ FHRERId B TUiadl H GUR & o [0 & 1 741 4T :

1. Tafcoea T2ram

2. Py &

3. goil-ad fare
4, fafers e
Options :
21052920585. 1
21052920586. 2
21052920587. 3
21052920588. 4

Question Number : 48 Question Id : 2105295217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Sustainable Development Goals (SDGs) set in 2015 by the United Nations are intended to
be achieved by

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052920589. 1
21052920590. 2
21052920591. 3
21052920592. 4

Question Number : 48 Question Id : 2105295217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hgad AP ER1 3 2015 H FuiRd GuIvviiy faerd dedl (T8.3150) I ® db I U - &1
TR

1. 2025

2. 2030

3. 2035

4. 2040
Options :
21052920589. 1
21052920590. 2
21052920591. 3
21052920592. 4

Question Number : 49 Question Id : 2105295218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Modes of supply of education services

Examples of these services in education
under GATS

. Professors, teachers and researchers working
A. Mode 1 - Cross border supply abroac onia sempiorany basis

, Il. Language training companies, Local
B. Mode 2 - Consumption abroad ] g, - g P '
university and Satellite campuses

) . Distance education, Virtual education,
C. Mode 3 - Commercial presence L
Corporate training through ICT

IV. A student travels to another country to enrol
D. Mode 4 - Movement of natural persons

in a course of study/degree programme

Choose the correct answer from the options given below:

TA-IV,E-I,C-1I,D-I
2ZA-ILB-IV,C-1I,D-1
SA-ILB-U,C-1,D-1V
4 A-LB-ILC-1V,D-1l
Options :

21052920593. 1
21052920594. 2
21052920595. 3
21052920596. 4

Question Number : 49 Question Id : 2105295218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Tl @ G-I @1 FaH &8 -1 & e & Siaia R Gareit ot omgfd o usfaat 6 g g
- -1l H 2187 H 39 "aredi & e g

gal-| -1l

A GGfd-1: GE-OR |1 fae=l F Sl SIUR R S &R I8 U,
HTgfd f2refdh 7R Tyl

B. Usfa-2 : fag=r & |11 Hro1 ufiRrerr dufai, ®yrig fagfderey ok
C. UGfa-3 : aifvifcad (1. 3s 91 31 & A1y U greufRiam, syt faf,
Jurufd HIURE UFI&

D. UGld-4 : Widpidd  |Iv. D3 faendl sremgd & fodl ureashH / S
a3 @1 MEAFET  [@RHH 5 THiE & o guL o2 oidl &

- feu T1u fasedl & 9 981 SR g -

TA-IV,B-1,C-1I,D-1
ZA-ILB-IV,C-1,D-1I
3A-ILB-NLC-1,D-1IV
4 A-1L,B-II,C-1V,D-1
Options :

21052920593. 1
21052920594. 2
21052920595. 3
21052920596. 4

Question Number : 50 Question Id : 2105295219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Ashtadhyayi was written by

1. Chanakya

2. Jivaka

3. Katyayana
4. Panini
Options :
21052920597. 1
21052920598. 2
21052920599. 3
21052920600. 4

Question Number : 50 Question Id : 2105295219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HPTH & TED § :

1. dI0T

2. SidraT

3. P

4, grfor
Options :
21052920597. 1
21052920598. 2
21052920599. 3
21052920600. 4

PART II Pali
Section Id : 21052960
Section Number : 2

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529164
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105295220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

lokam sada hanati maccu mahagajindo,
davanalo vanamivavirato asesam.
Which alamkdara has been used in the above mentioned gatha?

1. Ripaka

2. Dipaka

3. Upama

4. Utpreksa
Options :
21052920601. 1
21052920602. 2
21052920603. 3
21052920604. 4

Question Number : 51 Question Id : 2105295220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dids 9al g-id Hed HeRIal,
Gl gHrHaNaal Eg|
Jad YT H T8 ScddR UYad o-

1. &Udh

2. GlU®

3. JUHI

4. IU&T
Options :
21052920601. 1
21052920602. 2
21052920603. 3
21052920604. 4

Question Number : 52 Question Id : 2105295221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who is the author of Saddhammopayana text?

1. Sthavira Buddhappiya
2. Sthavira Ananda

3. Aranyaka Medhamkara
4, Sthavira Medhamkara
Options :

21052920605. 1
21052920606. 2
21052920607. 3
21052920608. 4

Question Number : 52 Question Id : 2105295221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

TG 9 &1 T 30 gR1 &1 T 8-

1. ™G g U
2. ™R IS

3. ARUGE HegR
4, BfR gz
Options :
21052920605. 1
21052920606. 2
21052920607 3
21052920608. 4

Question Number : 53 Question Id : 2105295222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

paramisikharam patva buddho hutva anuttaro

desetva madhuram dhammam jantinam sivamavaham
sabbam sadevakam lokam braha-samsara bandhuna
mocayitva varam khemam papuneyyam sivam puram.
The above mentioned gatha occurs in

1. Jinalamkara

2. linacarita

3. Pajjamadhu

4. Paficagatidipana
Options :
21052920609. 1



21052920610. 2
21052920611. 3
21052920612. 4

Question Number : 53 Question Id : 2105295222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
URHIRRER Ul 51 gl 3R],

@l Ay o S 9anag |
Yedl Yogo tid Sell-SaRE=H],
i@ a3 WY grquiE fad g1
ST SUT -

Options :

21052920609. 1
21052920610. 2
21052920611. 3
21052920612. 4

Question Number : 54 Question Id : 2105295223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The statement “poranehi kato peso ativittharitokvaci. ativa kvaci samkhitto
anekapunaruttako.vajjitam tehi dosehi sukhaggahanadharnam. pasadasamvegakaram sutitto
ca upagatam. Pasadajanakam thane tatha samvegakarake janayantapasadam ca samvegam

ca 'sunathanca’ was uttered about

1. Dipavamsa
2. Mahavamsa
3. Thapavamsa
4, Dathavamsa
Options :
21052920613. 1
21052920614. 2
21052920615. 3
21052920616. 4

Question Number : 54 Question Id : 2105295223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T8 HUT -URIITE St 94T ifafaenfa o) odie of IfEs sregreas! | aferd at aafk
GEFRUIYRY | GHIGHaH Jiddl 9 JUFT | GHIesHd 31 aUl YdTTbRe | SHA-UE 9 Yaii
EEUUET

39 7Y & faug H &gl 1 &-

1. QUgq

2. Herad

3. Yudy

4. qI81aY
Options :
21052920613. 1
21052920614. 2
21052920615. 3




21052920616. 4

Question Number : 55 Question Id : 2105295224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

buddho sasavakagano jagadekanatho

taravali parivutopi ca punnacando.

indopi devamakutankita-padakanjo

ko phenapinda na samo tibhavesu jato.

Which alamkdra has been used in the above given gatha?

1. Upama

2. Rupaka

3. Utpreksa

4, Anuprasa
Options :
21052920617. 1
21052920618. 2
21052920619. 3
21052920620. 4

Question Number : 55 Question Id : 2105295224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 3UHI

2. wldh

3. JHET

4. JqHH
Options :
21052920617. 1
21052920618. 2
21052920619. 3
21052920620. 4

Question Number : 56 Question Id : 2105295225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What was the name of the river that flowed close to the spot where the Buddha had attained
Buddhahood?

1. Uruvela

2. Rohini

3. Nerafjara
4. Veranja
Options :
21052920621. 1
21052920622. 2



21052920623. 3
21052920624. 4

Question Number : 56 Question Id : 2105295225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
IY I 1T Y1 S g5 & 9119 WK B & RS & Fagid ggdl 4 ?

1. 3%qdl

2. 3fgoft

3. RS

4, 9Tl
Options :
21052920621. 1
21052920622. 2
21052920623. 3
21052920624. 4

Question Number : 57 Question Id : 2105295226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Bodhisatta Vessantara was born in the city of

1. Campa

2. Baranasi

3. Indapatta
4, Jetuttara
Options :
21052920625. 1
21052920626. 2
21052920627. 3
21052920628. 4



Question Number : 57 Question Id : 2105295226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ST 3R] &1 o F 39 R H g3 T

1. T91
2. SRIUL

3. 3aUg
4. SIgR
Options :
21052920625. 1
21052920626. 2
21052920627. 3
21052920628. 4

Question Number : 58 Question Id : 2105295227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to some Pali texts, the name of Siddhattha Gotama's wife was

1. Sulocana

2. Celana

3. Patacara

4, Bhaddakaccana
Options :
21052920629. 1
21052920630. 2
21052920631. 3
21052920632. 4

Question Number : 58 Question Id : 2105295227 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

D0 TN UUT & 3R, R Tia8 &1 Udl &1 Ul

1. GardAl

2. Tl

3. U]

4, Hgd=Hl
Options :
21052920629. 1
21052920630. 2
21052920631. 3
21052920632. 4

Question Number : 59 Question Id : 2105295228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
After having attained Enlightenment and granted Brahma Sahampati's request to preach the
doctrine, who did the Buddha think of as being the fittest to hear the Buddhavacana?

1. Uddaka Ramaputta
2. Alara Kalama

3. Bhaggava

4, Bharandu Kalama
Options :
21052920633. 1
21052920634. 2
21052920635. 3
21052920636. 4

Question Number : 59 Question Id : 2105295228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. 3gd {THUA
2. HIR dIclH
3. Hid

4. H{Ug DIcH
Options :
21052920633. 1
21052920634. 2
21052920635. 3
21052920636. 4

Question Number : 60 Question Id : 2105295229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The causative form of the verbal root 'da’ is—

1. Dapayati

2. Dadamano
3. Dinna

4. Daturh
Options :
21052920637. 1
21052920638. 2
21052920639. 3
21052920640. 4

Question Number : 60 Question Id : 2105295229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. QIOgfd
2. GGHM!
3. feA

4.q1q
Options :
21052920637. 1
21052920638. 2
21052920639. 3
21052920640. 4

Question Number : 61 Question Id : 2105295230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
To which ‘gana’, the verbal form ‘gheppati’ belongs—

1. Tanadigana
2. Gahadigana
3. Svadigana
4. Kiyadigana

Options :

21052920641. 1
21052920642. 2
21052920643. 3
21052920644. 4

Question Number : 61 Question Id : 2105295230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AIGITOT

2. TEeu

3. T1fGo

4, fhgreaT
Options :
21052920641. 1
21052920642. 2
21052920643. 3
21052920644, 4

Question Number : 62 Question Id : 2105295231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Read the statement given below—
lyam dhammalipi khapigalasi pavatasi devanarh piyen 13jina likhapita.
Which of the following, according to the characteristics of Pali grammar, is not appropriate—

1. Dhammalipi
2. Devanam

3. Piyena

4. L3jina
Options :
21052920645. 1
21052920646. 2
21052920647. 3
21052920648. 4

Question Number : 62 Question Id : 2105295231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. Y

2. GdH

3. fogq

4, T
Options :
21052920645. 1
21052920646. 2
21052920647. 3
21052920648. 4

Question Number : 63 Question Id : 2105295232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For the first time, the word 'Pali-bhasa’ is used in—

1. Sasanavamsa

2. Balavatara

3. Kaccayanasara

4. Moggallana grammar
Options :

21052920649. 1
21052920650. 2
21052920651. 3
21052920652. 4

Question Number : 63 Question Id : 2105295232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

TIfeT-HTT WMo BT AUUH AT BHUd & —

1. 9949

2. SR

3. FAIAIR

4, AT TR0
Options :
21052920649. 1
21052920650. 2
21052920651. 3
21052920652. 4

Question Number : 64 Question Id : 2105295233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the types of consciousness in which the investigating consciousness (santirana-citta) is
accompanied by equanimity (upekkha) —

1. Akusala vipaka ahetuka citta
2. Kusala vipaka ahetuka citta
3. Pathama rapavacara citta

4. Kamavacara sobhana citta
Options :

21052920653. 1

21052920654. 2

21052920655. 3

21052920656. 4

Question Number : 64 Question Id : 2105295233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. HPYUd [AUIE Hedd fad
2. Ud [dUId Hedd fad
3. UoH UG fad

4, HHEER TivE fod
Options :

21052920653. 1
21052920654. 2
21052920655. 3
21052920656. 4

Question Number : 65 Question Id : 2105295234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Abhidhammatthavikasini is—

1. Buddhadatta's sub-commentary on the Abhidhammavatara
2. CullaDhammapala’s sub-commentary on Saccasangaho

3. Ariyavamsa’s Abhidhammatika

4. Sumangalathera’s Abhidhammatika

Options :

21052920657. 1

21052920658. 2

21052920659. 3

21052920660. 4

Question Number : 65 Question Id : 2105295234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. TS R 3T Hfem-daT
Options :

21052920657. 1

21052920658. 2

21052920659. 3

21052920660. 4

Question Number : 66 Question Id : 2105295235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who authored a sub-commentary on the first twenty verses on Atthasalint and when?

1. Bhikkhu Tipitakalankara, 14™ century
2. Bhikkhu Tilokaguru, 177 century

3. Bhikkhu Tipitakalankara, 17t century
4, Bhikkhu Mahakassapa, 14™ century
Options :

21052920661. 1

21052920662. 2

21052920663. 3

21052920664. 4

Question Number : 66 Question Id : 2105295235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. g faficaagR, 14 df ared]
2. Trerg faiiesirs, 17 df rdTsdt

3. fiyrg fafUedeigR, 17 91 arsdt
4, T HEIH U, 14 df Tdls]
Options :

21052920661. 1

21052920662. 2

21052920663. 3

21052920664. 4

Question Number : 67 Question Id : 2105295236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Amalhavinayo is a part of -

1. Adhikaranasamatha Dhamma
2. Pacittiya Dhamma

3. Sekhiya Dhamma

4. Aniyata Dhamma

Options :

21052920665. 1

21052920666. 2

21052920667. 3

21052920668. 4

Question Number : 67 Question Id : 2105295236 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SfIHIUTHY T
2. Ui e

3. Ofgg 4

4, g ¥
Options :
21052920665. 1
21052920666. 2
21052920667. 3
21052920668. 4

Question Number : 68 Question Id : 2105295237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A monk who accepts gold and silver is guilty of-

1. Parajika

2. Nissaggiya pacittiya
3. Dukkata

4. Sekhiya

Options :
21052920669. 1
21052920670. 2
21052920671. 3
21052920672. 4

Question Number : 68 Question Id : 2105295237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. RIS

2. gt uiikf
3. gddhc

4. URgg

Options :
21052920669. 1
21052920670. 2
21052920671. 3
21052920672. 4

Question Number : 69 Question Id : 2105295238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In what context did the Buddha establish ‘Ukkhepaniyakammam’ rule-

1. Channa

2. Panduka

3. Seyyaka

4. Assaji
Options :
21052920673. 1
21052920674. 2
21052920675. 3
21052920676. 4

Question Number : 69 Question Id : 2105295238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. &4

2. UUgH

3. 9TD

4, 3%
Options :
21052920673. 1
21052920674. 2
21052920675. 3
21052920676. 4

Question Number : 70 Question Id : 2105295239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The false view below arose in whose mind?

“tathaham bhagavatd dhammam desitam djanami yatha yeme antarayikd dhamma vutta
bhagavata te patisevato nalam antarayaya“ti

1. Punnabasu
2. Lohittaka

3. Arittha

4, Channa
Options :
21052920677. 1
21052920678. 2
21052920679. 3
21052920680. 4

Question Number : 70 Question Id : 2105295239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. gd9yg

2. Tifg<i

3. 3R

4. @4

Options :
21052920677. 1
21052920678. 2
21052920679. 3
21052920680. 4

Question Number : 71 Question Id : 2105295240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The third rule of "Sarmhghadisesa Dhamma'’ is related to-

1. Sukkavissatthi

2. Kayasamsagga

3. Dutthallzhi-vaca

4. Attakamaparicariyaya-vanna
Options :

21052920681. 1

21052920682. 2

21052920683. 3

21052920684. 4

Question Number : 71 Question Id : 2105295240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. gFDidelg

2. DA

3. Gggoalig-drd

4. AP RGEgu
Options :

21052920681. 1
21052920682 2
21052920683. 3
21052920684 4

Question Number : 72 Question Id : 2105295241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The subject-matter of the Dipavamsa is

1. History

2. Geography
3. Polity

4. Economics
Options :
21052920685. 1
21052920686. 2
21052920687. 3
21052920688. 4

Question Number : 72 Question Id : 2105295241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Options :

21052920685. 1
21052920686. 2
21052920687. 3
21052920688. 4

Question Number : 73 Question Id : 2105295242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to the Vamsa literature, King Vijaya arrived in Sri Lanka at

1. Anuradhagamam
2. Upatissagamam
3. Tambapannt

4. Mahameghavana
Options :
21052920689. 1
21052920690. 2
21052920691. 3
21052920692. 4

Question Number : 73 Question Id : 2105295242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. IRIEH
2. SUTaEATH
3. qEEgiu

4. AgHYad
Options :
21052920689. 1
21052920690. 2
21052920691. 3
21052920692. 4

Question Number : 74 Question Id : 2105295243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following terms is used for an Arahata?

1. Anagami

2. Sakadagami
3. Asekkha

4, Sotapanna
Options :
21052920693. 1
21052920694. 2
21052920695. 3
21052920696. 4

Question Number : 74 Question Id : 2105295243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SR

2. gHarTH
3. g

4, g4
Options :
21052920693. 1
21052920694 2
21052920695. 3
21052920696. 4

Question Number : 75 Question Id : 2105295244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Ketumatl was situated at:

1. Tavatimsa

2. Himavanta

3. Vijambhavatthu
4, Rakkhitatala
Options :
21052920697. 1
21052920698. 2
21052920699. 3
21052920700. 4

Question Number : 75 Question Id : 2105295244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. d@idyg
2. fedad

3. faemay

4, Fgada
Options :
21052920697. 1
21052920698. 2
21052920699. 3
21052920700. 4

Question Number : 76 Question Id : 2105295245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Milindapariha, the question ko lokam paleti’ has been asked to-

1. Rohana

2. Parana Kassapa
3. Ayupala

4. Makkhali Gosala
Options :
21052920701. 1
21052920702. 2
21052920703. 3
21052920704. 4

Question Number : 76 Question Id : 2105295245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Options :

21052920701. 1
21052920702. 2
21052920703. 3
21052920704. 4

Question Number : 77 Question Id : 2105295246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Scholar who suggested ‘Manava’ as the author of the Milindapafha was -

1. CAF. Rhys Davids
2. 1. B. Horner

3. Max Muller

4. T. W. Rhys Davids
Options :
21052920705. 1
21052920706. 2
21052920707. 3
21052920708. 4

Question Number : 77 Question Id : 2105295246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 4T U0 359 Sfgw
2. T3, §l. gFR

3. AR R

4. 3. gaq 3y Sfagd
Options :
21052920705. 1
21052920706. 2
21052920707. 3
21052920708. 4

Question Number : 78 Question Id : 2105295247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the Jinakdlamaling, the Milindapafiha was composed at the time of which Sihali
King?

1. Vijaya

2. Abhaya

3. Pandukabhaya
4, Kannatissa
Options :
21052920709. 1
21052920710. 2
21052920711.3
21052920712. 4

Question Number : 78 Question Id : 2105295247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. faem

2. 3HY

3. UUgdhlHY
4, PUUTCEE
Options :
21052920709. 1
21052920710. 2
21052920711. 3
21052920712. 4

Question Number : 79 Question Id : 2105295248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The scholar who articulated that originally Milindapariha was written in Sanskrit was:

1. W. Geiger

2. Maurice Winternitz
3. G.P. Malalasekera

4. Hermann Oldenberg
Options :

21052920713. 1
21052920714. 2
21052920715.3
21052920716. 4

Question Number : 79 Question Id : 2105295248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Segf MY

2. HIlRE faeiH e
3. il . ATeE®R
4. BHA s
Options :
21052920713. 1
21052920714. 2
21052920715. 3
21052920716. 4

Question Number : 80 Question Id : 2105295249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If a person does not take birth, whether he feels unpleasant feeling or not:

1. He feels physical feeling and not mental feeling
2. He feels pleasant physical feeling

3. He feels unpleasant mental feeling

4. He feels physical feeling only

Options :

21052920717. 1

21052920718. 2

21052920719. 3

21052920720. 4

Question Number : 80 Question Id : 2105295249 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920717. 1

21052920718. 2

21052920719. 3

21052920720 4

Question Number : 81 Question Id : 2105295250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the term 'Visuddhimagga', the word ‘'magga’ is in the sense of—

1. Pafifia

2. Adhicitta

3. Nibbana

4. Adhigama
Options :
21052920721. 1
21052920722. 2
21052920723. 3
21052920724. 4

Question Number : 81 Question Id : 2105295250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TagfeaT g forg ol # g—

1. U=l

2. et

3. =g

4, A
Options :
21052920721. 1
21052920722. 2
21052920723. 3
21052920724. 4

Question Number : 82 Question Id : 2105295251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following ‘Pafifia’ has NOT been described in answering the question "anto jata
bahi jata, jataya jatita paja’”?

1. Jati paffia

2. Vipassana panfia

3. Yathabhatafidnaparna
4. Pariharika panna
Options :

21052920725. 1
21052920726. 2
21052920727. 3
21052920728. 4

Question Number : 82 Question Id : 2105295251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SITid o=l
2. TausgH U=t

3. QUTH =TT U]
4, URETg go=ll
Options :
21052920725. 1
21052920726. 2
21052920727. 3
21052920728. 4

Question Number : 83 Question Id : 2105295252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Visuddhimagga has been explained by the Buddha in many ways. Which of the following does
not relate to Visuddhimagga?

1. Vipassana

2. Jhéna and Parna

3. Saddha

4, Sila, S5amadhi, Panfa
Options :

21052920729. 1
21052920730. 2
21052920731. 3
21052920732. 4

Question Number : 83 Question Id : 2105295252 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Tausg1

2. 9 Ud Uoall

3. Hal

4. Gid, 9A1E, Td ool

Options :

21052920729. 1

21052920730. 2

21052920731. 3
21052920732. 4

Question Number : 84 Question Id : 2105295253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Jata’ is the designated term for which one of the following?

1. Ditthijala

2. Brahmajala
3. Atthajala

4. Tanh3jala
Options :
21052920733. 1
21052920734.2
21052920735. 3
21052920736. 4

Question Number : 84 Question Id : 2105295253 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 3@3?1
2. gl
3. AT

4, dUgTalct
Options :
21052920733. 1
21052920734. 2
21052920735.3
21052920736. 4

Question Number : 85 Question Id : 2105295254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the statement ‘cittamh panfiam ca bhavayam’, the word ‘cittam’ denotes the sense of—

1. Consciousness

2. Mind

3. One-pointedness
4, Concentration
Options :
21052920737. 1
21052920738. 2
21052920739. 3
21052920740. 4

Question Number : 85 Question Id : 2105295254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. g
2. 79

3. UM HId

4, gAY
Options :
21052920737. 1
21052920738. 2
21052920739. 3
21052920740. 4

Question Number : 86 Question Id : 2105295255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The vagga which is named after the first sutta of that vagga of the Dighanikaya—

1. Stlakkhandhavagga
2. Mahavagga

3. Pathikavagga

4. Mahakkhandhaka
Options :
21052920741. 1
21052920742. 2
21052920743. 3
21052920744. 4

Question Number : 86 Question Id : 2105295255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GiciRg=an]

2. HEglaH]
3. giiY&an

4. Hgldhd=d
Options :
21052920741. 1
21052920742. 2
21052920743.3
21052920744. 4

Question Number : 87 Question Id : 2105295256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Suppiyaparibbajaka and Brahmadattamanavaka are the main characters of one of the
following sutta—

1. Brahmajala sutta

2. Ambattha sutta

3. Katadanta sutta

4. Samafifiaphala sutta
Options :

21052920745. 1
21052920746. 2
21052920747. 3
21052920748. 4

Question Number : 87 Question Id : 2105295256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. gelallcd gd

2. g 4d

3. @cad ygd

4. HH=={hc] 4
Options :
21052920745. 1
21052920746. 2
21052920747. 3
21052920748. 4

Question Number : 88 Question Id : 2105295257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not included under solasaparikkhara in the Katadantasutta?

1. The four assenting groups

2. The king Mahavijita endowed with eight things

3. The Brahmin chaplain is endowed with four things
4. The four dissenting groups

Options :

21052920749. 1

21052920750. 2

21052920751. 3

21052920752. 4

Question Number : 88 Question Id : 2105295257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. 7 TaRIel gg
Options :
21052920749. 1
21052920750. 2
21052920751. 3
21052920752. 4

Question Number : 89 Question Id : 2105295258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Vividha visesana yatta vinayato ceva kayavacanam
Vinayatthavidahi ayam vinayo vinayo ti akkhatam.
The above explanation of the word 'Vinaya' was given by-

1. Buddhadatta
2. Buddhaghosa
3. Dhammapala
4. Ananda
Options :
21052920753. 1
21052920754. 2
21052920755. 3
21052920756. 4

Question Number : 89 Question Id : 2105295258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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1. §%ad

2. 45Uy

3. YHUI

4. 3G
Options :
21052920753. 1
21052920754. 2
21052920755. 3
21052920756. 4

Question Number : 90 Question Id : 2105295259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is not a Sihala Atthakatha?

1. Maha-atthakatha

2. Mahapaccariya-atthakatha
3. Paficappakarana-atthakatha
4, Kurundi-atthakatha
Options :

21052920757. 1

21052920758. 2

21052920759. 3

21052920760. 4

Question Number : 90 Question Id : 2105295259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

38 U B RiEd 5oyl T &
1. AGI-HZHYT

2. HelU=ig- A HYT

3. TP HI-AHSHYT

4, PoG-HEHYUT

Options :

21052920757. 1
21052920758. 2

21052920759. 3
21052920760. 4

Question Number : 91 Question Id : 2105295260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The present participle form of the verbal root ‘cura’ is—
A. Corenta

B. Coreyamana
C. Coranta

D. Corayamana

Choose the correct answer from the options given below:

1. (A) and (B) only
2. (A) and (C) only
3. (A) and (D) only
4. (A) only
Options :
21052920761. 1
21052920762. 2



21052920763. 3
21052920764. 4

Question Number : 91 Question Id : 2105295260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR U] DT TAHHDIGD Pad TUG —

1. (A)
2. (A)
3. (A)
4. &ad (A)
Options :
21052920761. 1
21052920762. 2
21052920763. 3
21052920764. 4

Question Number : 92 Question Id : 2105295261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the pronouns from the following—
A.  Annatara

B. Sabbaffd
C. Ubhaya
D. Paficadha

Choose the correct answer from the options given below:

1. (A) only

2. (A) and (B) only

3. (4), and (C) only

4. (A), (B), and (C) only
Options :
21052920765. 1
21052920766. 2
21052920767. 3
21052920768. 4

Question Number : 92 Question Id : 2105295261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, 3fSSTY

B. Weao]

C. 34

D. T
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1. &ad (A)

2. (A) 3R (B)

3. (A), 3R (O)

4. (A), (B), 3R (C)
Options :
21052920765. 1
21052920766. 2
21052920767. 3
21052920768. 4

Question Number : 93 Question Id : 2105295262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Second case-ending (vibhatti) is used in connection of word such as—

A. Antara
B. Anto
C. Hito
D. Abhito
E. Hetuna

Choose the correct answer from the options given below:

1. (A), (B) and (D) only
2. (A), (D) and (E) only
3. (B), (D) and

4. (A), (B) and

Options :
21052920769. 1
21052920770. 2
21052920771. 3
21052920772. 4

(
(
( (E) only
( (C) only

Question Number : 93 Question Id : 2105295262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A, HddT
B. 3fdl

c. fedl
D. ATt

E. B
=< U 71U fadoal © 9! &1 994 &i-

1. (A), (B), 3R (D)
2. (A), (D) 3R ()
3. (B), (D), 3R (E)
4. (A), (B), 3R (C)
Options :

21052920769. 1
21052920770. 2
21052920771. 3
21052920772. 4

Question Number : 94 Question Id : 2105295263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the 'Anagate bhavissatr’, which of the following belong to the second person
plural number of ‘paca’ root in the ‘parassapada and attanopada—
A. Pacissatha

Pacissavhe

B

. Pacissase
D. Pacissate
E.

Pacissamhe
Choose the correct answer from the options given below:

1. (A) and (D) only
2. (A) and (B)

3. (D) and (E) only
4. (C) and (D) only
Options :
21052920773. 1
21052920774. 2
21052920775. 3
21052920776. 4

only

Question Number : 94 Question Id : 2105295263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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mon®e P

Options :

21052920773. 1
21052920774. 2
21052920775.3
21052920776. 4

Question Number : 95 Question Id : 2105295264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Commentator Buddhaghosa raises five important questions concerning the Abhidhamma.
Identify the questions, which are related to Buddhaghosa's question from the following

options.

A. Kena bhato?

B. Kada adhigato?

C. Kattha adhigato?

D. Kena karanena adhigato?

Choose the correct answer from the options given below:

1. (B) and (C) only

2. (A), (B) and (C) only
3. (B), (C), and (D) only
4. (A), (C), and (D) only
Options :

21052920777. 1
21052920778. 2
21052920779. 3
21052920780. 4

Question Number : 95 Question Id : 2105295264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A @ HAl?
8. al Al
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Options :

21052920777. 1
21052920778. 2
21052920779. 3
21052920780. 4

Question Number : 96 Question Id : 2105295265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the scholars (acariya-s), who were known for Abhidhamma before the ‘Kathavatthu’
was written down—

A. Sariputta

B. Piyapala

C. Piyadassi

D. Mahakassapa

Choose the most appropriate answer from the options given below:

1. (A) only

2. (A) and (D) only

3. (B) and (C) only

4. (A), (B), and (C) only
Options :
21052920781. 1
21052920782. 2
21052920783. 3
21052920784. 4

Question Number : 96 Question Id : 2105295265 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. B9 (A)

2. (A) 3R (D)

3. (B) 3R ()

4. (A), (B), 3R (C)
Options :
21052920781. 1
21052920782. 2
21052920783. 3
21052920784. 4

Question Number : 97 Question Id : 2105295266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Factors associated with the wrong process of the Tajjaniyakamma are-
A.  Asammukha katam hoti
Appatipuccha katam hoti

B

C. Appatinfiaya katam hoti
D. Anapattiya katar hoti
E.

Acodetva katam hoti
Choose the correct answer from the options given below:

1. A and B only

2. B and C only

3. A, DandE only

4 All-A B, C DandE
Options :

21052920785. 1
21052920786. 2
21052920787. 3
21052920788. 4

Question Number : 97 Question Id : 2105295266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A), (B) ad
2. (B), (C) Bad
3. (A), (D), (F) hadl

4. (), (B), (C), (D), () W1
Options :
21052920785. 1
21052920786. 2
21052920787. 3
21052920788. 4

mo o0 ® e

Question Number : 98 Question Id : 2105295267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following texts in the descending chronological order of their composition
A. Saddhammopayana

Jindlamkara

Anagatavamsa

Jinacarita

Buddhalamkara

mo O W

Choose the most appropriate answer from the options given below:

1.D,AECB
2ZAECEBD
3.CB D AE
4.B,D, A EC
Options :
21052920789. 1
21052920790. 2
21052920791. 3
21052920792. 4

Question Number : 98 Question Id : 2105295267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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mo o0 ® e

e fame ®f gfe-

1.D,A E C B ®ad
2.AEC B D ®ad
3.C,B, D, A E ®dd
4.B,D,A E C ®dd
Options :
21052920789. 1
21052920790. 2
21052920791 3
21052920792. 4

Question Number : 99 Question Id : 2105295268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is/are correct?

A. The Avidare-nidana gives the biography of the Buddha from the time Maya's Dream till
Mahaparnibbana.

B. The Avidare-nidana gives the biography of the Buddha from his death in Tusita till
attainment of Enlightenment.

C. The Avidare-nidana gives the biography of the Buddha from his birth at Lumbinigama till
Mahaparinibbana.

D. The Avidare-nidana is a part of the Nidanakatha.

Choose the correct answer from the options given below:

1. Only (B) and (

2. Only (C) and (

3. Only (A) and (D) are correct

4. Only (A), (B) and (C) are correct
Options :

21052920793. 1

21052920794. 2

21052920795. 3

21052920796. 4

D) are correct
D) are correct

Question Number : 99 Question Id : 2105295268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920793. 1
21052920794. 2
21052920795. 3
21052920796. 4

Question Number : 100 Question Id : 2105295269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Some verses attributed to the Buddha's son, Rahula, are included in the

1. Theragatha and Milindapariha
2. Dhammapada and Sutta-Nipdta
3. Jataka and Khuddakapatha

4. Anguttara Nikdya and Uddana
Options :

21052920797. 1

21052920798. 2



21052920799. 3
21052920800. 4

Question Number : 100 Question Id : 2105295269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
o MYE g5 & 7, A5 § Usid ¢, foud wiia §

1. U1 3R fAfeeusg

2. G IR Go-Fu

3. Wld® HR ehuld

4, HSTR HPE 3R IaH
Options :

21052920797. 1
21052920798. 2
21052920799. 3
21052920800. 4

Question Number : 101 Question Id : 2105295270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to the Dipavamsa, during the intervening period between Upali and Moggaliputta
following were the Vinayapamokhas?

(A) Dasaka
(B) Sonaka
(C) Siggava
(D) Upagutta
(E) Kassapa

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
21052920801. 1
21052920802. 2
21052920803. 3
21052920804. 4

Question Number : 101 Question Id : 2105295270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



EIdY & TR, SUI 3R AR & §id & SRdld H Hgfiiad faTagmrg ¥
A. GTE®
B. Hivld

C. 7w a
D. ST

E. U

1. AB,C
2.B.CD
3.C,DE

4. ACE
Options :
21052920801. 1
21052920802. 2
21052920803. 3
21052920804. 4

Question Number : 102 Question Id : 2105295271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which paramita was practised quintessentially by Vessantara leading to his birth in Tusita?

1. Metta

2. Sla

3. Parina

4. Dana
Options :
21052920805. 1



21052920806. 2
21052920807. 3
21052920808. 4

Question Number : 102 Question Id : 2105295271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

® I U URfdT fafRy 0 U YiEH1 S & UL a8k &1 o F qiad 9 g1 ?

1. 340

2. Hie

3. Yol

4.clH

Options :
21052920805. 1
21052920806. 2
21052920807. 3
21052920808. 4

Question Number : 103 Question Id : 2105295272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Buddha's mother gave birth to him
A, while standing

B. while holding the branch of a tree
C. while she was on way to Devadaha
D. in Lumbinivana

Which of the above is/are correct?

1. Only (A) is correct.

2. Only (B) and (C) are correct.

3. Only (&), (B), and (C) are correct.
4. All (A), (B), (C), and (D) are correct.
Options :

21052920809. 1

21052920810. 2

21052920811. 3

21052920812. 4

Question Number : 103 Question Id : 2105295272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
21052920809. 1
21052920810 2
21052920811. 3
21052920812. 4

Question Number : 104 Question Id : 2105295273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is/are correct?

A. The Santike-nidana details about the historical Buddha's spent of seven weeks just after the
enlightenment.

B. The Santike-nidana provides the biographies of twenty-four Buddhas.

C. Dhammacakkappavattana at Sarnath is not included in the Santike-nidana.
D. It is clear that the Jatakatthakatha is written by Acarya Buddhaghosa.
Choose the correct answer from the options given below:

1. Only A and D are correct

2. Only A is correct

3. Only A and C are correct.

4. Only A, B, and C are correct
Options :

21052920813. 1

21052920814. 2

21052920815. 3
21052920816. 4

Question Number : 104 Question Id : 2105295273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Optlons :

21052920813. 1
21052920814. 2
21052920815. 3
21052920816. 4

Question Number : 105 Question Id : 2105295274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is/are correct?
A. Shortly after enlightenment, Mara asked the Buddha for seeking a teacher for himself.
B. The subject-matter of the Dhammapada is the biography of the Buddha.

C. Shortly after enlightenment, Brahma Sahampati dissuaded Buddha from seeking a teacher
for himself.

D. The subject-matter of the Nidanakatha is the biography of the Buddha.
Choose the correct answer from the options given below:

1. Only (B) and (D) are correct.
2. Only (C) and (

3. Only (A) and (D) are correct.
4. Only (A),

Options :

21052920817. 1

21052920818. 2

21052920819. 3

21052920820. 4

D) are correct.

(B) and (C) are correct.

Question Number : 105 Question Id : 2105295274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920817. 1
21052920818. 2
21052920819. 3
21052920820. 4

Question Number : 106 Question Id : 2105295275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following is/are correct?

A. According to the Dipavamsa, Upéli became the first Vinayapamokkha after the
Mahaparinibbana.

B. According to the Dipavamsa, Candavajji was one of the Vinayapamokkha.

C. According to the Mahdvamsa, Ascka's coronation took place 218 years before the
Mahaparinibbana.

D. The subject-matter of the Mahavamsa is history.
Choose the correct answer from the options given below:

1. Only (B) and (D) are correct.

2. Only (C) and (D) are correct.

3. Only (A) and (D) are correct.

4. Only (A), (B) and (D) are correct.
Options :

21052920821. 1

21052920822. 2

21052920823. 3

21052920824. 4

Question Number : 106 Question Id : 2105295275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052920821. 1
21052920822. 2
21052920823. 3
21052920824. 4

Question Number : 107 Question Id : 2105295276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who uttered the gatha given below and to whom?

aham buddham ca dhammam ca samgham ca saranamgato
upasakattam Vedesim sakyaputtassa sasane|

tvampi mani ratanani uttamani naruttama

cittam pasadayitvana saddhaya saranam bhaja|

A. Sariputta

B. Moggallana
C. Ananda

D. Buddha

E. Mahinda

Choose the correct answer from the options given below:

1. AtoC
2BtoC
3.CtoE

4. DtoE
Options :
21052920825. 1
21052920826. 2
21052920827. 3
21052920828. 4

Question Number : 107 Question Id : 2105295276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. B3R C
3. C3RE
4.D 3R E
Options :
21052920825. 1
21052920826. 2
21052920827. 3
21052920828. 4

Question Number : 108 Question Id : 2105295277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following texts in the ascending chronological order of their composition

Gandhavamsa
Samgitivamsa
Saddhammasamgaha
Thapavamsa

mo o0 ® e

Mahabodhivamsa
Choose the most appropriate answer from the options given below:

1.D,C B AE
2EDCEBA
3.CBAED
4B A EDC
Options :
21052920829. 1
21052920830. 2
21052920831. 3
21052920832. 4

Question Number : 108 Question Id : 2105295277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.D,C B AE
2EDCEBA
3.CBAED
4B A EDC
Options :
21052920829. 1
21052920830. 2
21052920831. 3
21052920832. 4

mo o0 ® e

Question Number : 109 Question Id : 2105295278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Sheep and goats, oxen and buffaloes, camels and asses have:
A. Manasikara

B. Panna

C. Do not have a pafina

D. Neither manasikaro nor pafifia

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. D and C only
Options :
21052920833. 1
21052920834. 2
21052920835. 3
21052920836. 4

Question Number : 109 Question Id : 2105295278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. AR B
2.B3R D
3LAJRC
4 D3R C
Options :
21052920833 1
21052920834. 2
21052920835. 3
21052920836. 4

Question Number : 110 Question Id : 2105295279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the Samasa of the underlined words-

ayam kho, tata nagasena, asokaramassa maggo, idam kho, tata, amhakam kambalaratanam

solasahattham ayamena, atthahattham vittharena, patigganhahi kho, tata, idam
kambalaratanam anukampam upadaya ti

A. Tappurisa

B. Bahubbrhi

C. Awvvayibhava
D. Kammadharya
E. Dvigu

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. D and E only
4. D and C only
Options :
21052920837. 1
21052920838. 2
21052920839. 3
21052920840. 4

Question Number : 110 Question Id : 2105295279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A 3R B
2.B3R C
3.DIARE
4 D3R C
Options :
21052920837. 1
21052920838. 2
21052920839. 3
21052920840, 4

mo o0 ® e

Question Number : 111 Question Id : 2105295280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



sukha vedana kusala va akusala va abyakata va“ti?
A, Siya, kusala,

B. siya akusala,

C. siya abyakata

D. Sabbada abyakata

Choose the correct answer from the options given below:

1. A and B only

2. B, Cand D only
3. A, Band Conly
4. D and C only
Options :
21052920841. 1
21052920842. 2
21052920843. 3
21052920844. 4

Question Number : 111 Question Id : 2105295280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A B

2B CD
3.A,B C
4.D3RC
Options :
21052920841. 1
21052920842. 2
21052920843. 3
21052920844. 4

Question Number : 112 Question Id : 2105295281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The scholar who has not accepted Acariya Buddhaghosa as the author of the Dhammapada-
atthakatha:

1. M. Winternitz
2. S. K. Chatterjee
3. B. C. Law

4. W. Geiger
Options :
21052920845. 1
21052920846. 2



21052920847. 3
21052920848. 4

Question Number : 112 Question Id : 2105295281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

UG AgHY] DI 39 f[dgH 9 HERY 9599 & WA 96l 9F 8

1. TH. a3
2. U, &. 9all
&L gL ar

4. 3, MR
Options :
21052920845. 1
21052920846. 2
21052920847. 3
21052920848. 4

Question Number : 113 Question Id : 2105295282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The synonyms of the Pali word "Atthakatha’ are:

A.  Atthavannana

B. Tika

C. Anutika

D. Bhasya

E. Atthasarhvannana

Select the correct answer from the options given below:

1. A, B, and C only
2.C, D, and E only
3.B, C, and D only
4. A and E only
Options :
21052920849. 1
21052920850. 2
21052920851. 3
21052920852. 4

Question Number : 113 Question Id : 2105295282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.A B3R C
2.C,D3R E
3.B,C3RD
4 AJRE
Options :
21052920849. 1
21052920850. 2
21052920851, 3
21052920852, 4

Question Number : 114 Question Id : 2105295283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Pancappkarana-atthakatha is not a commentary on which of the following texts?

A. Katthavatthuppakarana
B. Dhammasangani

C. Yamaka

D. Vibhanga

E.

Puggalapanifiatti
Choose the correct answer from the option given below:

1. A, C, and D only
2. A, B, and C only
3. A, CandE only
4. D and C only
Options :
21052920853. 1
21052920854. 2
21052920855. 3
21052920856. 4

Question Number : 114 Question Id : 2105295283 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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D. fduT
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Helifeiied fadedl | U gl [dbeg & gHu:

1.A C3RD
2.A B3RC
3.A CHRE
4D3RC
Options :
21052920853 1
21052920854. 2
21052920855. 3
21052920856. 4

Question Number : 115 Question Id : 2105295284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



atitassa addhanassa kim malam, anagatassa addhanassa kim malam, paccuppannassa
addhanassa kim malanti?

A Avijja

B. Awijja, sankhara and vinfana

C. Vifnana and namarupa

D. Namardpa, salayatana and phassa

Choose the correct answer from the options given below:

1. A only

2. A and B only

3. A, Band Conly
4 All-A B CD
Options :
21052920857. 1
21052920858. 2
21052920859. 3
21052920860. 4

Question Number : 115 Question Id : 2105295284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A

2.AB

3.ABC

4. ABCD
Options :
21052920857. 1
21052920858. 2
21052920859. 3
21052920860. 4

Question Number : 116 Question Id : 2105295285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Sakkaputtiko . Yena va samsattha tarati carati vahati niko

B. Sakatiko IS EE0
C. Vasittho lll. na raga tena rattam tassedamafifatthesu
D. Kasavam V. Va nappacce

Choose the correct answer from the options given below:

1. A-ll, B-1, C-Iv, D-IIl
2. A-1, B-11, C-Iv, D-IlI
3. A-l, B-11, C-llI, D-IV
4. A-ll, B-l, C-lI, D-1V
Options :
21052920861. 1
21052920862. 2
21052920863. 3
21052920864. 4

Question Number : 116 Question Id : 2105295285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A. TFHYRID! |1 I9 91 YUg oRid =Rid deid Ot
B. OIpicdl  [II. 3fdi forar

c. aifag! 1. O XTI o T g Heaayg

D. BTG v a1 U=

el JR BT B Hd TG U fdseai H 9
1. (A-11), (B-1), (C-IV), (D--II1)
2. (A-1), (B-11), (C-IV), (D--1II)
3. (A-1), (B-11), (C-1II), (D--IV)
4. (A-11), (B-1), (C-1II), (D--1V)

Options :

21052920861. 1
21052920862. 2
21052920863. 3
21052920864. 4

Question Number : 117 Question Id : 2105295286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A Sami l. Dhatunamupasaggayogadisvapi ca
B. Okasa Il. Niddharane ca

C. Apadana IIl. Upadhyadhikissaravacane

D. Sampadana IV. Namoyogadisvapi ca

Choose the correct answer from the options given below:

1. A-ll, B-1, C-Iv, D-IIl
2. A-1, B-11, C-Iv, D-IlI
3. A-l, B-11, C-llI, D-IV
4. A-ll, B-lll, C-I, D-1V
Options :
21052920865. 1
21052920866. 2
21052920867. 3
21052920868. 4

Question Number : 117 Question Id : 2105295286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A-I0), (B-1), (C-1V), (D--11
2. (A-1), (B-1), (C-1V), (D--1
3. (A-1), (B-10), (C-l), (D--1V
4. (A-1), (B-N1), (C-1), (
Options :

21052920865. 1
21052920866. 2
21052920867. 3
21052920868. 4

[

D--1V

Question Number : 118 Question Id : 2105295287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

A, Akusala vipaka . Twenty-one
B. Lokuttara vipaka Il. Three

C. Ahetuka kiriya Ill. Seven

D. Kusala citta V. Four

Choose the correct answer from the options given below:

1. A-lll, B-1V, C-lI, D-I
2. A-ll, B-1v, C-1, D-II
3. A-ll, B-1, C-1v, D-1lI
4. A-IV, B-l, C-lI, D-11I
Options :
21052920869. 1
21052920870. 2
21052920871. 3
21052920872. 4

Question Number : 118 Question Id : 2105295287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 1 Gail-1l Y e &<

gal-| gl-1i

A, AP [dUTR .21
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1. (A-1), (B-1V), (C-1I), (D--I
2. (A-11), (B-1V), (C-1), (D--I
3. (A-11), (B-1), (C-IV), (D--1I
4. (A-IV), (B-1), (C-11), (D--11I
Options :

21052920869. 1
21052920870. 2
21052920871. 3
21052920872. 4

el -

Question Number : 119 Question Id : 2105295288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

Name of the Person Place Associated With
A. Assaji and Punabbasu . Kitagiri

B. Mettiya and Bhummaja Il. Rajagaha

C. Panduka and Lohitaka Ill. Jetavana

D. Nadi Kassapa and Gaya Kassapa V. Uruvela

Choose the correct answer from the options given below:

1. A- 1, B-1II, C-IV, D-1I
2 A-1, B-11, C- 1, D- IV
3A-ILB-1, C-1V, D-1
4 A-IV B-1I,C- 1, D-11
Options :

21052920873. 1
21052920874. 2
21052920875. 3
21052920876. 4

Question Number : 119 Question Id : 2105295288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A-1), (B-111), (C-1V), (D--1I
2. (A-1), (B-11), (C-111), (D--1V
3. (AN, (B-1), (C-1V), (D--11
4. (A-IV), (B-11), (C-1), (D--11I
Options :

21052920873. 1
21052920874. 2
21052920875. 3
21052920876. 4

)
)
)
)

Question Number : 120 Question Id : 2105295289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Constituents Characteristics

A, Vedana . Appanalakkhana

B. Cetana Il. Abhisankharanalakkhana
C. Vicara Ill. Obhasanalakkhana

D. Pafifa IV. Anumajjanalakkhana

E. Vitakka V. Anubhavanalakkhana

Choose the correct answer from the options given below:

1. A- 1, B-1Il, C-IV, D- V, E- Il
2 A-1,B-11, C-1I D- IV, E-V
3.A-1I,B-1, C-1V, D-1l, E-V
4. A-V,B-1l, C- IV, D-1Il, E- |
Options :

21052920877. 1

21052920878. 2

21052920879. 3

21052920880. 4

Question Number : 120 Question Id : 2105295289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



B. A Il A @RI
claar (. S

D. UGSl |IV. HJHwI-eiaan]
e fada®d  |v. sr{yada@y

A feu U fadhedl H W Ogi SR 4
1. (A-D), (B-1IN), (C-1V), (D--V), (E-11)
2. (A1), (B-1), (C-1II), (D--1V), (E-V)
3. (A-1II), (B-1), (C-1V), (D--1I), (E-V)
1)

4. (A-\), (B-), (C-IV), (D--111), (E-
Options :

21052920877. 1

21052920878. 2

21052920879. 3

21052920880. 4

Question Number : 121 Question Id : 2105295290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Person Opinion

A. Parana Kassapa . Devavada

B. Makkhaligosala Il. Akiriyavada

C. Niganthanataputta 1. Ucchedavada

D. Safijaya Belatthaputta V. Vikkhepavada

E. Ajita Kesakambala V. Catuyamasarnvara

Choose the correct answer from the options given below:

1. A-I1,B-1,C-V,D-1V, E-lII
2. A-1I1,B-1,.C-V,D-1V, E-l
3. A-11,B-IV,C-V,D-1, E-1II
4. A-lILB-IV,C-V,D-lI, E-I
Options :

21052920881. 1
21052920882. 2
21052920883. 3
21052920884. 4

Question Number : 121 Question Id : 2105295290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



c. e TT Il I=bedig
D.gs dagyd  |Iv. [dRdudig
£, ffold pOdEa |V, dIgarHdaR
< fou U fadet o 9 98l SR A

1. (A-IN), (B-1), (C-V), (D-1V), (E-IN
2. (A-11), (B-1), (C-V), (D-IV), (E-

3. (A-11), (B-1V), (C-V), (D-1), (E-11I
4. (A-1l1), (B-1V), (C-V), (D-1I), (E-
Options :

21052920881. 1
21052920882. 2
21052920883. 3
21052920884. 4

)
IT)
)
)

Question Number : 122 Question Id : 2105295291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Parifia . Brahma Vihara
B. Samadhi Il. Tilakkhana

C. Anatta 1. Sammaditthi
D. Upekkha V. Magganga

Choose the correct answer from the options given below:

1. A-1, B-1l, C- IV, D- Il
2. A-1I, B-1Iv,C-1l,D-1
3.A-IV,B-1IILLC-1,D-1
4. A-1l, B-1,C-1I, D- IV
Options :

21052920885. 1
21052920886. 2
21052920887. 3
21052920888. 4

Question Number : 122 Question Id : 2105295291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -1l

A, Jo=l . §EIldeR

B. AT IRGREE
C. 3 1. gHEIGfg
D. JUddl . TR

Hefifariad fadeal # d wel [dded & 9L :

1. (A-1), (B-11), (C-1V), (D--11
2. (A-11), (B-1V), (C-1I), (D--I
3. (A-IV), (B-1I1), (C-1), (D--I
4. (A-1), (B-1), (C-1), (D--1V
Options :
21052920885. 1
21052920886. 2
21052920887. 3
21052920888. 4

[l -

Question Number : 123 Question Id : 2105295292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Mahabodhivamsa l. Camp

B. Mahavamsa Il. Prose

C. Kesadhatuvamsa I, Alamkara
D. Subodhalamkara V. Poetry

Choose the correct answer from the options given below:

1. A-1ll, B- 11, C- IV, D- |
2.A-1,B-1I,C-1I,D-1IV
3.A-IV,B-I,C- 11, D-1
4. A- I, B- IV, C-1, D- Il
Options :

21052920889. 1
21052920890. 2
21052920891. 3
21052920892. 4

Question Number : 123 Question Id : 2105295292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -1l

A. HRTEIYdY . 9

B. Hgldd 11 7T

C. HUYUIay lIl. DR
D. YaIYTA®R V. BT

Heifcigd faseul H © Ugl fdded &I gHU:

1. (A-1), (B-11), (C-1V), (D-I)
2. (A-1), (B-111), (C-1I), (D-IV)
3. (A-IV), (B-I), (C-lI1), (D-11)
4. (A-1), (B-IV), (C-1), (D-111)
Options :
21052920889. 1
21052920890. 2
21052920891. 3
21052920892. 4

Question Number : 124 Question Id : 2105295293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

A. Sthavira Upatissa .. Thapa Vamsa

B. Sthavira Vacissara Il. Datha Vamsa

C. Sthavira Dharmakirti Ill. Sdsana Vamsa

D. Bhikkhu Paffiasami V. Mahabodhi Vamsa

Choose the correct answer from the options given below:

1. A- IV, B- |, C-1I, D- Il
2.A-1,B-1,C-1,D- 1V
3.A-1,B-1IlL, C-1IV,D-1
4. A-1l,B-1IV,C-1,D-11
Options :

21052920893. 1
21052920894. 2
21052920895. 3
21052920896. 4

Question Number : 124 Question Id : 2105295293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



cjwﬁﬂrﬁﬁ ||i.¥n¥|:ra'¥l
D. fe] TrearH V. AEEIiy 99
HeifeiRad [dweal ¥ ¥ Uel [d®ed @l 9F

1. (A-IV), (B-1), (C-11), (D--11I
2. (A-1), (B-1), (C-l), (D--1V
3. (A-11), (B-1D), (C-IV), (D--I
4. (A-1), (B-IV), (C-1), (D--1I
Options :

21052920893. 1
21052920894. 2
21052920895. 3
21052920896. 4

[l - —

Question Number : 125 Question Id : 2105295294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 1l

A, Citta .. Samyojana

B. Passaddhi II. Asava

C. Ditthi lll. Bojjhanga
D. Macchariya V. Anupassana

Choose the correct answer from the options given below:

1. A- 1, B-1I,C-1,D- IV
2. A-IV,B-1Il, C- 11, D-1
3.A-1L,B-1V,C- 1L, D-1
4. A-1l, B-1, C- v, D- Il
Options :

21052920897. 1
21052920898. 2
21052920899. 3
21052920900. 4

Question Number : 125 Question Id : 2105295294 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



| -1l
A. ford . FareH
B. U&Hls |L.3HTEd
c.fafg . diogg
D. H=31Y V. ST
efiferRad fadedl # 9§ et fdded @I 9y
1. (A-1l1), (B-1), (C-1), (D--1V)
2. (A-IV), (B-IIT), (C-1I), (D--1)
3. (A-1), (B-1V), (C-1II), (D--11)
4. (A-II), (B-1), (C-1V), (D--IIT)

Options :

21052920897. 1
21052920898. 2
21052920899. 3
21052920900. 4

Question Number : 126 Question Id : 2105295295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the examples of tekalikapaccaya, tassiladipaccaya, kiccapaccaya, and yvadipaccaya in
the same order—

A. Nanam

B. Datthabbam

C. Brahmacan

D. Puifiakaro

Choose the correct answer from the options given below:

1. (D). (Q). (B). (A)
2. (A), (Q). (B). (D)
3. (A), (B). (C). (D)
4. (D), (B). (C). (A)

Options :

21052920901. 1
21052920902. 2
21052920903. 3
21052920904. 4

Question Number : 126 Question Id : 2105295295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ddIidd U=d, aianG U=y, fosd Ued, U1 @5 =g & 3ale0 @l [Gu MU u=dl & HH o

A. =0

B. Gg o
C. SiE Rl

D. [S=IBR]
el fadey gi-e :

1.D,C B A
2ACBD
3.A,B,CD
4.D,B,C A
Options :
21052920901. 1
21052920902. 2
21052920903. 3
21052920904. 4

Question Number : 127 Question Id : 2105295296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following texts chronologically

A. Kaccayananyasa

B. Rapasiddhi

C. Saddasaratthajalini

D. Moggallanapafcikapradipa

Choose the correct answer from the options given below:

1. (A), (C). (D). (B)
2. (A), (Q). (B). (D)
3. (A), (B). (C). (D)
4. (D), (B). (C). (A)

Options :

21052920905. 1
21052920906. 2
21052920907. 3
21052920908. 4

Question Number : 127 Question Id : 2105295296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fgifdrd g=If &1 Tg-1 BId &l ded gU HH H Haieyd ®- :
A. HAGAAE

B. UM

C. TR

D. AFTCIHURI TG

Hel fgey 1 gHu

1.A CDB
2ACBD
3.A,B,CD
4.D,B,C A
Options :
21052920905. 1
21052920906. 2
21052920907. 3
21052920908. 4

Question Number : 128 Question Id : 2105295297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The correct order of the chapters in Balavatara text is—

A. Namarapappakarana
B. Sandhippakarana

C. Karakappakarana

D. Akhyatappakarana

E. Kitakappakarana

Choose the correct answer from the options given below:

1. (B), (A), (C). (D), (E)
2. (C). (B). (E), (D). (A)
3. (A). (B), (B). (D). (Q)
4. (B), (A), (D). (E), (C)

Options :

21052920909. 1
21052920910. 2
21052920911. 3
21052920912. 4

Question Number : 128 Question Id : 2105295297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



AICadR T & STl Dl dgd gU HH H Hdiad $e :

A, AHEUHI]
B. Tferoga

C. PROTDHI
D. RATAYHRI

E . fhammd
gl fddey & gFu .

1.B,A, CD,E
2CBEDA
3.A/BEDC
4B, A D EC
Options :
21052920909. 1
21052920910. 2
21052920911. 3
21052920912. 4

Question Number : 129 Question Id : 2105295298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following texts chronologically

A. Porana-tika

B. Sankhepa-vannana

C. Paramatthadipani-tika
D. Ankura-tika

E. Mavanita-tika

Choose the correct answer from the options given below:

1. (A). (B), (C), (D). (E)
2. (B), (A). (D). (©). (B)
3. (E). (D). (A). (B). (Q)
4. (Q), (D). (A). (E). (B)

Options :

21052920913. 1
21052920914. 2
21052920915. 3
21052920916. 4

Question Number : 129 Question Id : 2105295298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFifird T & ISTDI Bl BIeTHH DI <Pl U Faiyd B -
A. GRTUT Sl

3. §@U GUIFH]

C. GTHGIUAT ST

D. PR Il

E. gi1d Sl

Hel fgey 1 gHu

1.A B CD,E
2B ADCE
3EDABEC
4.C,D, A EB
Options :
21052920913. 1
21052920914. 2
21052920915. 3
21052920916. 4

Question Number : 130 Question Id : 2105295299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the Sanghadisesa Dhamma rules in their correct order

Saficarittasikkhapada
Attakamaparicariyasikkhapada

Kayasamsaggasikkhapada

A
B
C. Dutthullavacasikkhapada
D
E. Sukkavissatthisikkhapada

Choose the correct answer from the options given below:

1. (D), (E). (). (B). (A)
2. (B), (A), (E). (D), (O)
3. (E). (D). (C). (B). (A)
4. (Q). (B). (D). (B). (A)

Options :

21052920917. 1
21052920918. 2
21052920919. 3
21052920920. 4

Question Number : 130 Question Id : 2105295299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ooy o & Faaf &f T8l $9 H 39
A. TARTaadTg

B. HOGHUI ARG YaEg

C. GegeaardI¥adg

D. HEAEGHYEEG

E. oo aegig fdandg
A f&u 1T fawmedl O U8l STk &1 90 & -

1.D,E,C, B A
2B AED,C
3EDCBA
4.C,B,D, E A
Options :
21052920917. 1
21052920918. 2
21052920919. 3
21052920920. 4

Question Number : 131 Question Id : 2105295300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The correct sequence of the Samyojanas is

1. Ripa, Patigha, Kama, Vicikiccha, Avijja
2. Kdma, Rdpa, Patigha, Ditthi, Avijja

3. Patigha, Ditthi, Kdma, Vicikiccha, Avijja
4. Ditthi, Kdma, Patigha, Vicikiccha, Avijja



Options :

21052920921. 1
21052920922. 2
21052920923. 3
21052920924. 4

Question Number : 131 Question Id : 2105295300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e P19 PH I8 6 ;

1. ¥4, Uiy, &, fafafe=sr, sfawr
2. B, ¥4, uicy, &g, sffawn

3. ufey, fafg, @M, fafafe=sr, sifawn
4, f&fg, oM, ufey, [afdfe=ar, affae
Options :

21052920921. 1

21052920922.2

21052920923. 3

21052920924 4

Question Number : 132 Question Id : 2105295301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The correct sequence of Bojjhangas is:

1. Dhammavicaya, Viriya, Piti, Sati, Samadhi
2. Viriya, Piti, Samadhi, Sati, Dhammavicaya
3. Samadhi, Sati, Dhammavicaya, Viriya, PTti
4. Sati, Dhammavicaya, Viriya, Piti, Samadhi
Options :

21052920925. 1



21052920926. 2
21052920927. 3
21052920928. 4

Question Number : 132 Question Id : 2105295301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

AodE B Ul HH ¢ -

1. ey, fafyg, gifa, afd, gy
2. fafyg, difq, ganfe, afq, emfdag
3. Tu1fY, i, ewfa-yg, fafeg, difd
4. gfd, emfa=g, fafyg, difa, gamfg
Options :

21052920925. 1

21052920926. 2

21052920927. 3

21052920928. 4

Question Number : 133 Question Id : 2105295302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the deaths of the following in the chronological order from the earliest to the more
recent

A. The Buddha

B. Ananda, the Buddha's cousin

C. Devadatta, the Buddha's cousin and brother-in-law
D. Rihula, the Buddha's son

E. Ajatasattu, King of Magadha

Choose the correct answer from the options given below:

1.A B CD,E
2D CAEB
3.B.CADE
4.C,D,B A E
Options :
21052920929. 1
21052920930. 2
21052920931. 3
21052920932. 4

Question Number : 133 Question Id : 2105295302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



PBIAMHIAD HH H FElaRad & g & Ugd 9 dlg H Faieyd &1 :
A TS

B. HHG, g% & gdX HIg

C5AaGd, G & gdX HT5 3R 985

D. VG, §& & GA

E.S{SIlaaT, 1Y @

i feu 1y famedl & 9 el I 94 -

1.A B CD,E
2D CAEB
3.B.CADE
4.C,D,B A E
Options :

21052920929. 1
21052920930. 2
21052920931. 3
21052920932. 4

Question Number : 134 Question Id : 2105295303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct order of Parajika rules of the Patimokkha -

A. Uttarimanussadhammasikkhapadam

B. Adinnadanasikkhapadam

C. Methunadhamma sikkhapadam

D. Manussaviggahasikkhapadam

Choose the correct answer from the options given below:

1.C,ABD
2D,BCA
3.CB DA

4. B,D,C A
Options :
21052920933. 1
21052920934. 2
21052920935. 3
21052920936. 4

Question Number : 134 Question Id : 2105295303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



UlicHIRE & URITeid HgH & 981 HH o [afad o1 :
A, FONHTEUHRFIUG

8. HfeaamiagEng

C. Hy fydamd

D. ASgiaTslgaEg

i U 7Y fghey U Tl STk @i UgdH Y :

1.C,ABD
2D,BCA
3.CB DA

4. B,D,C A
Options :
21052920933. 1
21052920934. 2
21052920935. 3
21052920936. 4

Question Number : 135 Question Id : 2105295304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct order of the factors of "Bodhipakkhiyadhamma”
Cattaro iddhipada
Cattaro Satipatthana

A
B
C. Cattaro Sammappadhana
D. Pafcindriyani

E.

Paficabalani
Choose the correct answer from the options given below:

1.C,A B D E
2B CADE
3.CB D AE
4B, D, ECA
Options :

21052920937. 1
21052920938. 2
21052920939. 3
21052920940. 4

Question Number : 135 Question Id : 2105295304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“FifYufdEgy & 371 & T8l $H &f [kied o1 ;
A. TORI Sigumal
B. IRI AfAugHI

C. IARI FHEYM

D. U sf=arid

E. U Q-

i U 7Y gyl ¥ Hel I & UgdH By -

1.C,ABDE
2B CADE
3.CB D AE
4B, D, ECA
Options :

21052920937. 1
21052920938. 2
21052920939. 3
21052920940. 4

Question Number : 136 Question Id : 2105295305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: According to Buddhaghosa, Pali can be entitled as Magadhi, Magadhibhasa, or
Magadhinirutti. Using the word Magadhi word, Buddhaghosa says— Magadhikaya
sabbasattanam malabhasaya.

Reason R: Mahathera Sumangala uses the word Magadhrt but not Pali while writing the text
Balavatara.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920941. 1

21052920942. 2

21052920943. 3

21052920944. 4

Question Number : 136 Question Id : 2105295305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &Y U TN B Ud @ SifidYH (A) 3R GO & BRUI (R) & €4 H Sifdhd [Ga1 [ g -

HYDHYA (A) : TG99 D SR * UIfer & JETe, AR, g1 arrdisi @el o 96l gl
AR Wt B TR B §U G5UIY H D8l & - AFUHE Headw- JaHEH|

DR (R) : SR GHIE A SIdldaR” W AU el fevad gU uifer 9 dedhe |FTe del el
SWRIdd dYH & bR H, A feu e faswed! § ¥ gad 3fad 3w gt

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) 3R (R) GIFT Gal § dfth (R), (A) D U IR ai o
3. (A) H8l § b (R) HEl 181 B

4. (A) HEl 81 8 T (R) Gl

Options :

21052920941. 1

21052920942, 2

21052920943. 3

21052920944, 4

Question Number : 137 Question Id : 2105295306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Nipata are those, which remain unchanged irrespective of numbers, genders,
person, and case.

Reason R: All case-endings (vibhatti-s) are used in connection of ‘uccam’

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920945. 1

21052920946. 2

21052920947. 3

21052920948. 4

Question Number : 137 Question Id : 2105295306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



-d &l &Y U TN B Ud @ SifidYH (A) 3R GO & BRUI (R) & €4 H Sifdhd [Ga1 [ g -

3ifiyepyT (a) : T T o qur e faufRmmt ik |t a9t & wHEaar vged 819 a1 Wes &
Hua #8d Bl

PR (R) : I & I H Fodt [aURI &1 Uai giar g |
SWRidd dYH & HbRI o, fid feu 1t fasedl § 9 9ad Ifad S| g

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) 3R (R) GIFT Gal § dfth (R), (A) D U IR ai o
3. (A) H8l g Tifd(R) WEI T8I B

4. (A) HEl 781 8 T (R) Wl

Options :

21052920945. 1

21052920946. 2

21052920947. 3

21052920948, 4

Question Number : 138 Question Id : 2105295307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Fifty-four (54) types of consciousness are enumerated in the
Abhidhammatthasngaho. Again, they are analysed under the headings of Akusala, Ahetuka
and Sobhana.

Reason R: To clarify, it is said in the same text that there are twenty-three resultant
consciousness, twenty are wholesome and unwholesome consciousness, and eleven are
functional.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920949. 1

21052920950. 2

21052920951. 3

21052920952. 4

Question Number : 138 Question Id : 2105295307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYDHYA (A) : AU H dIa- (54) YHR o ol & AT 81 §: So] SHHad , Hedd
3R A ol & 3iaeia fa=erwor faar g

DRU (R) : 34 9~ H, P B o oL, el 711 ¢ fdb 23 fauies foad, oad AR e yd Baa
©d 20, 741 11 fBRA R sl g

SWRidd dYH & HbRI o, fid feu 1t fasedl § 9 9ad Ifad S| g

1. (A) 3R (R) GHT T8I § 3IR (R), (A) B! el ARSAT B

2. (A) 3R (R) GIFT Gal § dfth (R), (A) D U IR ai o
3. (A) G8l & Tifdb (R) Tl 181 B

4. (A) HEl 781 8 i (R) Tl B

Options :

21052920949. 1

21052920950. 2

21052920951. 3

21052920952, 4

Question Number : 139 Question Id : 2105295308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement I: A monk cannot accept gold and silver.

Statement |I: The Nisaggiya Pacittiya rule is a provision to punish a monk who accepts gold
and silver.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct
Options :

21052920953 1

21052920954. 2

21052920955.3

21052920956. 4

Question Number : 139 Question Id : 2105295308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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SWRidd dYH & HbRI o, fid feu 1t fasedl § 9 9ad Ifad S| g

1. Y | 3R 1 gFf g8l Bl

2. YT | 3R 1 gFT Tad g |
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4, ®YF |1 TTAd &, Tie &Y 1| Gl g
Options :

21052920953 1

21052920954. 2

21052920955, 3

21052920956. 4

Question Number : 140 Question Id : 2105295309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R
Assertion A: Ajatasattu built a monastery for Devadatta at Gayasisa.
Reason R: Ajatasattu as a young man was greatly impressed by Devadatta's psychic powers.

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

21052920957. 1

21052920958. 2

21052920959. 3

21052920960. 4

Question Number : 140 Question Id : 2105295309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HHBY (A) : ST - TARIY H gacd & (Y U [dgR &I v fear o)
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1. (A) 3R (R) GFI T8I & 3R (R), (A) BT Gl ARAT &

2. (A) 3R (R aﬁf@%ﬁm ), (A) BT e g T8t &
3. l:m?afr%“ R}ﬂﬁﬁ%l

4, (A) W8l 921 B it (R) eI B



Options :

21052920957. 1
21052920958. 2
21052920959. 3
21052920960. 4

Sub-Section Number : 2
Sub-Section Id : 210529165
Question Shuffling Allowed : Yes

Question Id : 2105295310 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

Sabbafca panetarh rapam ahetukarm sappaccayam sasavam sankhatam lokiyam kdmavacaram
andrammanam appahatabbamevati ekavidhampi ajjhattikabahiradivasena bahudha bhedam
gacchati. Katham? Pasadasankhatam paficavidhampi ajjhattikarGpam nama, itaram
bahirardpam. Pasddahadayasankhatam  chabbidhampi  vatthurGpam nama, itaram
avatthuripam. Pasddavififattisankhatam  sattavidhampi dvararGpam nama, itaram
advararipam. Pasadabhavajivitasankhatam atthavidhampi indriyarGpam nama, itaram

anindriyarGpam.
Sub questions
Question Number : 141 Question Id : 2105295311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



Which of the following statements is/are correct for matter (rdpa) ?

1. All matter is associated with wholesome roots

2. All matters is associated with unwholesome roots

3. All matter is associated with wheolesome, unwholesome, and indeterminate roots

4, All matter is neither associated with the wholesome, unwholesome, or indeterminate roots
Options :

21052920961. 1

21052920962. 2

21052920963. 3

21052920964. 4

Question Number : 142 Question Id : 2105295312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does Pasada-vififiattisankhatam mean?

1. Sevenfold Dvararapa

2. Sevenfold Advarartpa
3. Sixfold Vatthurapa

4. Twelvefold Dvarikartpa
Options :

21052920965. 1
21052920966. 2
21052920967. 3
21052920968. 4

Question Number : 143 Question Id : 2105295313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Material phenomenon (rapa) as a single-fold belongs to

A.  Mundane

B. Conditioned

C. Unconditioned

D. Without object

Choose the correct answer from the options given below-

1. C only

2. A, Band Conly
3. A, B and D only
4. A and B only
Options :
21052920969. 1
21052920970. 2
21052920971. 3
21052920972. 4

Question Number : 144 Question Id : 2105295314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Matter is being manifested, when it appears as

1. Mundane and supramundane
2. Internal and external

3. Conditioned and unconditioned
4. With object and without object
Options :

21052920973. 1

21052920974. 2

21052920975. 3

21052920976. 4



Question Number : 145 Question Id : 2105295315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The meaning of appahatabbam in this passage is

1. Not to be abandoned

2. Mot to be attained

3. To be abandoned

4. The supreme bliss, the nibbanarh
Options :

21052920977. 1

21052920978. 2

21052920979. 3

21052920980. 4

Question Id : 2105295310 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (141 to 145)

Question Label : Comprehension

HTRUFT A I TS R UH F ITE :

Hogamaliedicddd dgyl e TSid| @47 JUedsdn UIadil egfteed M, 30
diigyey| UHcgeauSdld Sfeyf gy A¥, 3oi JayEd | gueidssiagard Tafauf
gREU 9M, St HgREU | THeHdelidadgdd S5y gi<aed 9M, 3o HHEaEd|
UdGfougEgEd  glediqefl  sielewd  dikded, quiterud, s gEEed
el HUiTuEUg| dWE JUMGAEY, Fal SHUNcHEdl ©UhGd YHeEHEY, Iad
HHACEIET|

Sub questions



Question Number : 141 Question Id : 2105295311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

STH P AU FI S AU TRl © ?

1. Gl F0 HUT Tl ¥ T §Id §

2. gt =Y 2y Hail 4 YREd el @

3. T U 304, AP Yd SR HeArdhd ol § T9gad 8id &

4. 9l ©9 9 B4, 7 fHUd AR 7 8 Hed Jol § T sld &
Options :

21052920961. 1

21052920962. 2

21052920963. 3

21052920964. 4

Question Number : 142 Question Id : 2105295312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TG - [dosifggard & 3t A1 g 7

1. GdidY gREY
2. gdfae AgREY

3. By TYEY

4. gleY giNed®g
Options :
21052920965. 1
21052920966. 2
21052920967. 3
21052920968. 4

Question Number : 143 Question Id : 2105295313 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
o U HEIT B ;

A, difdg

5. §gEd

C. 3gFEd
D. SR

i feu 7T fadedl ¥ © Ugl SR &1 99 &

1. &dd C

2. hddA,BIARC
3. had A, B IR D
4, &dd A AR B
Options :
21052920969. 1
21052920970 2
21052920971. 3
21052920972. 4

Question Number : 144 Question Id : 2105295314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=Y B UG IH0 94 Tl ¢ 919 98 Udid ol & :

1. Qifhe 3N BN

2. AIR® 3R FE

3. UgEd 3R fgSEd

4, AR Flgd AR A5
Options :

21052920973 1




21052920974. 2
21052920975. 3
21052920976. 4

Question Number : 145 Question Id : 2105295315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HETdes BT #Y 39 IS H B -

1. T8l @l arg

2. U el & Irg
3. Ble4 4y

4. T U, HedH
Options :
21052920977. 1
21052920978. 2
21052920979. 3
21052920980. 4

Sub-Section Number : 3
Sub-Section Id : 210529166
Question Shuffling Allowed : Yes

Question Id : 2105295316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage carefully and answer the questions that follow

Dve me bhikkhave, antd pabbajitena na sevitabba. Yo cayam kamesu kamasukhallikdnuyogo
hinc gammo pothujjanike anariyo anatthasamhito, yo cayam attakilamathanuyogo dukkho
anariyo anatthasamhito, ete te bhikkhave, ubho ante anupagamma majjhima patipada
tathagatena abhisambuddha cakkhukarani fidnakarani upasamaya abhififidya sambodhaya
nibbanaya samvattati. Katama ca s3 bhikkhave, majjhima patipada tathagatena
abhisambuddhad cakkhukarant Aanakarani upasamaya abhifindya sambodhaya nibbanaya
samvattati: ayameva ariyo atthangiko maggo seyyathidam: sammaditthi sammasankappo
sammavaca sammakammanto sammasjivo sammavayamo sammasati sammasamadhi. Ayam
kho sa bhikkhave, majjhima patipada tathagatena abhisambuddha cakkhukarani fidnakarani
upasamaya abhififidya sambodhaya nibbanaya samvattati.

ldam kho pana bhikkhave, dukkham ariyasaccam: jatipi dukkha jarapi dukkha vyadhipi dukkho
maranampi dukkham appiyehi sampayogo dukkho piyehi vippayogo dukkho yampiccham na
labhati tampi dukkham sankhittena pancupadanakkhandha dukkha". Idam kho pana
bhikkhave, dukkhasamudayo ariyasaccam: "yayam tanha poncbhavikd nandiragasahagata tatra
tatrabhinandini, seyyathidam: kamatanhd bhavatanhd vibhavatanhd". Idam kho pana
bhikkhave, dukkhanirodho ariyasaccam: yo tassdyeva tanhaya asesavirdganirodho cago
patinissaggo mutti analayo. Idam kho pana bhikkhave, dukkhanirodhagamini patipada
ariyasaccam: ayameva ariyo atthangiko maggo, seyyathidam: sammaditthi sammasankappo
sammavaca sammakammanto sammaajivo sammavayamo sammasati sammasamadhi.

Sub questions

Question Number : 146 Question Id : 2105295317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The word ‘upasamaya’ in this passage stands for

1. Not similar

2. Similar

3. Comes nearby
4. Leads to peace
Options :
21052920981. 1
21052920982. 2
21052920983. 3
21052920984. 4

Question Number : 147 Question Id : 2105295318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct grammatical form of the word “abhififiaya”-

1. A gerund

2. An infinitive

3. Present participle

4. Dative singular form
Options :

21052920985. 1
21052920986. 2
21052920987. 3
21052920988. 4

Question Number : 148 Question Id : 2105295319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“yo tassayeva tanhaya asesaviraganirodho cago patinissaggo mutti analayo”™— this sentence
indicates

1. Dukkha-samudaya
2. Nibbana

3. Dukkha

4. Samma-samadhi
Options :
21052920989. 1
21052920990. 2
21052920991. 3
21052920992. 4

Question Number : 149 Question Id : 2105295320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is used as an Ablative Case (Gpadana karaka)?

1. piyehi

2. appiyo

3. patipada

4. bhikkhave
Options :
21052920993. 1
21052920994. 2
21052920995. 3
21052920996. 4

Question Number : 150 Question Id : 2105295321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the past participle form:

1. evam

2. yo cayam

3. sutam

4. seyyathidam
Options :
21052920997. 1
21052920998. 2
21052920999. 3
21052921000. 4

Question Id : 2105295316 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 2105295317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
39 IS0 H Yk JUHHN 3FTd Rl & -

1. TGO F8l 8

2. UHYHH &

3. ToldId A 8

4 A B ARS8

Options :



21052920981. 1
21052920982. 2
21052920983. 3
21052920984. 4

Question Number : 147 Question Id : 2105295318 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Teg A=A B Hol AU w4 DI UgdH DX :

1. fpardd g

2. FAfErde b

3. GUHFGIAD P
4. G Uhad
Options :
21052920985. 1
21052920986. 2
21052920987. 3
21052920988. 4

Question Number : 148 Question Id : 2105295319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. G99 - §ed
2. =g
3.q7d
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Options :
21052920989. 1
21052920990. 2
21052920991. 3



21052920992. 4

Question Number : 149 Question Id : 2105295320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
0 4 5 Teg o UG dR® UG & -

1. foafe

2. i)

3. gfeual

4, fiyad
Options :
21052920993. 1
21052920994. 2
21052920995. 3
21052920996. 4

Question Number : 150 Question Id : 2105295321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
YddIici de-d &4 &I JgdH e ;

1.9d

2. a9
3.%d

4. gmig
Options :
21052920997. 1
21052920998. 2
21052920999. 3
21052921000. 4



